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Question Id : 4255894288 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

The following table shows the cumulative percentage of the total number of students appearing in
the Hindi and Punjabi examination and the cumulative number of students appearing in the Hindi
examination and scoring marks in five different categories, namely, 80 and above; 70 and above; 60 and
above; 50 and above; and 40 and above. Based on the data in the table, answer the questions that
follow.

Marks-wise distribution of students

Cumulative precentage of :
the total number of students [ s e e
Marks (Out of 100) : g students who appeared

who appeared in Hindi and in Hindi
Punjabi

80 and above 15% 108

70 and above 35% 264

60 and above 65% 424

50 and above 90 % 554

40 and above 100% 624

Note : (1) Total number of students who attended the exam is 1200.

(2) No student failed in the examination.

(3) Each student appeared in only one exam, that is, either in Hindi or in Punjabi exam.

Sub questions

Question Number : 1 Question Id : 4255894289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks :

What is the sum of the number of students who scored 70 or more than 70 but less than B0 marks
in Hindi and the number of students who scored 80 or more than 80 marks in Punjabi ?

(1) 330
(2) 228
(3) 272
(4) 284

Options :

42558916656. 1
42558916657.2
42558916658. 3
42558916659. 4

Question Number : 2 Question Id : 4255894290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of students who scored 50 or more than 50 marks but less than 60
marks in Hindi to the number of students who scored 40 or more than 40 marks but less than 50
marks in Punjabi ?

1 12:11
2 8:7
(3) 3:1
(4 13:5
Options :

42558916660. 1
42558916661. 2
42558916662 3



42558916663. 4

Question Number : 3 Question Id : 4255894291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The number of students who scored 80 and above marks in Hindi is % less than the
number of students who scored 60 or more than 60 marks but less than 70 marks in Punjabi.

(1) 46

(2) 54
(3) 44
(4) 52

Options :

42558916664. 1
42558916665. 2
42558916666. 3
42558916667. 4

Question Number : 4 Question Id : 4255894292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of students who scored 70 or more than 70 marks but
less than 80 marks in Punjabi and the number of students who scored 40 or more than 40 marks
but less than 50 marks in Hindi ?

(1) 20
(2) 16
(3) 14
(4) 30

Options :

42558916668. 1
42558916669. 2
42558916670. 3
42558916671. 4

Question Number : 5 Question Id : 4255894293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the average of the number of students who scored 50 or more than 50 marks but less than
60 marks in Punjabi and the number of students who scored 50 or more than 50 marks but less
than 60 marks in Hindi ?

(1) 180
(2) 150
(3) 200
(4) 140

Options :

42558916672. 1
42558916673.2
42558916674. 3
42558916675. 4



Question Id : 4255894288 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
fe enferrt 9 fewt o el wiien /a7 o ot ferenfiEi @6 et dem o diwa wfaera 9 fédt often # s
oF 3T 80 9 31fHer; 70 9 31faes; 60 & 31ftreR; 50 9 3ifms, 3 40 9 21fys =1 = fa=1 3fodl o sfe W @
et farenfeff 1 dfaa dem g ¢ %) afersr ® e SR1 F Sum T T g9 MY 9 & SR Ty ;
fearenfefai =t 3fer-am faavor

foedt = ot ol § wwr o | et after H W o amer

ok (100 % ) |arer feenfofat &Y wor oear & |faenfi= < wfea dear
Hfera gfdwra

80 7 afers 15% 108

70 7 3fem 35% 264

60 7 =i 65% 424

50 3 3m 90% 554

40 7 3w 100% 624

feoquft . (1)  wden ¥ Suferm faenfei o e W@ 1200 7
(2) odten § g off ferenef arpsiol T gem ¥
(3) ek fammeft 3 e Tk Than et et TiieT steren aeie aiian | & 9 fam g

Sub questions

Question Number : 1 Question Id : 4255894289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

feat 5 70 31eran 70 ¥ ik T 80 | W ik W T Al ferenfei=i ot Hem | qeiel | 80 SA9en 80 §
Aferer oieF W S Aot famnfeE w5 g o A e g 2

(1) 330
(2) 228
(3) 272
(4) 284

Options :

42558916656. 1
42558916657. 2
42558916658. 3
42558916659. 4

Question Number : 2 Question Id : 4255894290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

féat # 50 SA%a1 50 | Afeer 9= 60 ¥ W 35k U F Al fornf2@i =t G ® Srel H 40 S9ar 40
3ieh 9 @Ik T 50 3feF T W 27 U A o faenfEi ot den 9 s = e ?
(1 12:11

(2 8:7
(3) 3:1
(4) 13:5

Options :

42558916660. 1
42558916661. 2
42558916662. 3



42558916663. 4

Question Number : 3 Question Id : 4255894291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fadi # 80 =1eren 80 ® ferek ¥ wre H¥A aret Ternfei =1 Hen =1 dSiel § 60 19 60 7% 9 e

W 70 SR W FwH 3 Y w4 o Tt o gen | % A T |
(1) 46
(2) 54
(3) 44
@) 52
Options :

42558916664. 1
42558916665. 2
42558916666. 3
42558916667. 4

Question Number : 4 Question Id : 4255894292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YSTEl H 70 AGS1 70 ek § SAfHeE 9w 80 Sk § wH Ui ool farenfeldl w1 e o @< # 40 stemn
40 37 9 ¥ W 50 3F | W Aiss arel fanfefi i emn & o= w1 i @ g ?

(1) 20
(2 16
() 14
@) 30

Options :

42558916668. 1
42558916669. 2
42558916670. 3
42558916671. 4

Question Number : 5 Question Id : 4255894293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
USTEt H 50 el 50 37 € HAF T 60 3F H HH Ui Ao fomnffE @ e o & 6 50 e
50 37 | AfF W 60 3IF H FH Ui art faenfei=i #1 & &1 oiaa =0 872

(1) 180
(2) 150
(3) 200
(4) 140

Options :

42558916672. 1

42558916673. 2

42558916674. 3

42558916675. 4

Sub-Section Number : 2
Sub-Section Id : 425589176
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 4255894294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The role of a teacher in the simulation model is that of
(1) Explaining

(2) Designing

(3)  Describing

(4) Chosing activity

Options :

42558916676. 1

42558916677. 2

42558916678. 3
42558916679. 4

Question Number : 6 Question Id : 4255894294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SR Hieel § U foasrr 5 e Eald
(1) T A ()

(2) SIfvFHeTHE

(3) = FH

(4) FTEFETT I

Options :

42558916676. 1
42558916677.2
42558916678. 3
42558916679. 4

Question Number : 7 Question Id : 4255894295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The CBCS (Choice Based Credit System) in higher education promotes :
(1) Rigid Curriculum structure

(2) Flexibility in course selection

(3) Limited student choices

(4) Only theoretical learning

Options :

42558916680. 1

42558916681. 2

42558916682. 3
42558916683. 4



Question Number : 7 Question Id : 4255894295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

F=aar e o o1& e (FEA enania e fawen) frefafea = deafed st

(1) =7 greT=d] §3EA1
(2) UISTRH FEA H ARAEA
(3) Bl o WA HitHd =5 o fawe
(4) Fae Haifae stfrm
Options :

42558916680. 1
42558916681. 2
42558916682. 3
42558916683. 4

Question Number : 8 Question Id : 4255894296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the problem-solving strategy.

(A) Generate many possible solutions

(B) Determine how to implement the solution and evaluate the success of the solution
(C) Make a decision

(D) Evaluate each solution

(E) Define the problem

Choose the correct answer from the options given below.
(1) BEADC

(2} E ADCB

3) A, BCDE

4 CABED

Options :

42558916684. 1

42558916685. 2

42558916686. 3
42558916687. 4



Question Number : 8 Question Id : 4255894296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HHST-FHMM 1 WHIfad] ] SFaferd Shife

(A) 3T Hya FHIEE F 30 FHAT

(B) @& MuiRa =T ff oMM o1 34 fopanf= foran STe. o7 S o1 Sherdl 1 Y Jedisd &
il

(C) faoim o

(D) Uik GHIHM 1 Hedidhd Tl

(E) TwE1 1 9fsfud e

= feu o faedi § ¥ WE ST A -

(1) B,E AD,C

(2) EAD,CB

(3) A, BCDE

(4 C,ABED

Options :

42558916684. 1
42558916685. 2
42558916686. 3
42558916687. 4

Question Number : 9 Question Id : 4255894297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Learning for all implies :

(A) Inclusive Education

(B) Equitable Education

(C) Inclusive and Equitable Education
(D) Quality Education

(E) Categorized based Education
Choose the correct answer from the options given below.
(1) A, Band D only

(2) A andE only

(3) Conly

(4) Donly

Options :

42558916688. 1

42558916689. 2

42558916690. 3
42558916691. 4



Question Number : 9 Question Id : 4255894297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

asft & fog siferm = ared ®
(A) THEE foan

(B) =IrEETd foisn

(C) WM iR = forer
(D)  T[UrerTE e

(E) arfierto—3Trerfia forem

9 feu o faskredi § 9 W& T A ¢
(1) oaa A, B3RD

(2) HIA A SARE

(3) e C

(4) oA D
Options :

42558916688. 1
42558916689. 2
42558916690. 3
42558916691. 4

Question Number : 10 Question Id : 4255894298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1 :
List - 1
(Learning style)

A. Convergent

B. Divergent

C.  Assimilation

D. Accommodative

L
IL

1.

V.

List - II

(Strengths)

Creating theoretical model

Practical Application of ideas

Carrying out plans and tasks that involves students
in new experiences

Imaginative ability and generation of ideas

Choose the correct answer from the options given below :

(1) A-L B-I, C-lI, D-IV
(2) A-IL, B-I, C-III, D-IV
(3) A-ILL B-IV, C-I, D-1II
(4) A-IV, B-I, C-II, D-II
Options :

42558916692. 1

42558916693. 2

42558916694. 3

42558916695. 4



Question Number : 10 Question Id : 4255894298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
T -1 T - 11
( arferm gt ) (vfe)

A.  aifvmfa I Hgifas feel =1 gfsa e

B. fw= 1. fo=mi = sy

C. AR 1. 39 FArsed IR &Ml &l &, 5 e
aval | faenedt wrieRt w3 €1

D. HHEEAYO IV. heareTeh & SR fa=mi sl 3= &

= fau o foeredi o ¥ wWE W A ¢

(1) A-l B-II, C-1II, D-IV
(2) AL B, CII, D-IV
(3) A-IL B-1V, C-I, D-1II
4) A1V, B-L CIII, D-II

Options :

42558916692. 1
42558916693. 2
42558916694. 3
42558916695. 4

Question Number : 11 Question Id : 4255894299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is Exploratory Research ?

(1) It describes social situations, social events, social systems, social structures etc. The researcher
observes/studies and then describes what did he find ?

(2) It studies subject about which either no information or the limited information is available.

(3) It explains the causes of social phenomena. Describing the magnitude and nature of crimes
committed by females in India is one aspect of female crime but why do they commit crime is
its explanatory aspect.

(4) Itis based on common sense knowledge based on the accumulated experiences and beliefs of
the people.
Options :
42558916696. 1
42558916697. 2
42558916698. 3
42558916699. 4



Question Number : 11 Question Id : 4255894299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AU STeT -1 Brel & 7

(1)

()

(4)

I8 Ao fefadi, Arfser semat, wrfsren srawenaii, e e, sTfe & 9uie T B
IeeRdl SaceR/315999 Fd] & SR 99 98 90 R § foh 399 == )

7IE UH faua 1 319 &ia1 © F9meh 9 | 91 9 i ga SUers el © 9 Hiiid gE 3uers
gl
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.

7% AR % Wi sHveE 9 favam e ges 9fg 79

Options :

42558916696. 1
42558916697. 2
42558916698. 3
42558916699. 4

Question Number : 12 Question Id : 4255894300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is Explanatory research 7

(1)
(2)

()

(4)

It studies subject about which either no information or the limited information is available.

It describes social situations, social events, social systems, social structures etc. The researcher
observes/studies and then describes what did he find ?

It explains the causes of social phenomena. Describing the magnitude and nature of crimes
committed by females in India is one aspect of female crime but why do they commit crime is
its explanatory aspect.

It is based on common sense knowledge based on the accumulated experiences and beliefs of
the people.

Options :

42558916700. 1
42558916701. 2
42558916702. 3
42558916703. 4



Question Number : 12 Question Id : 4255894300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U ST 7 el © 2
(1) =e UY faua =1 semae & Fomes o | 1 O g g Suas Tl € A1 Siihd gEe S €
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Options :
42158916700.1
42558916701. 2

42558916702. 3
42558916703. 4

Question Number : 13 Question Id : 4255894301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Standard deviation (S) and coefficient of Variation (CV Expressed as a percentage) of different
datasets are given in A-D, below. Compute the mean of each dataset and arrange in ascending
order.

A. S=4,CV = 40/9
B. 5=50CV =462
C. S=14,CV =70/3

D. S§=16,CV =160/7

Choose the correct answer from the options given below :
(1 CBDA

2 CDBA

3) ADBC

4 D,BCA

Options :

42558916704. 1
42558916705. 2
42558916706. 3
42558916707. 4



Question Number : 13 Question Id : 4255894301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=1 el o A o= (S) S Y8R & Hed[uish (CV wfcsrear # =ek) 99 A-D | fau 70 81 9
BIEEE o HILF ! O] Hifeg 3T A€ 570 § =Fafeerd hifsi :

A. S=4CV =40/9

B. 8=50CV =625

C S=11.CV= 7073

D. S5 =16,CV = 160/7

3 fom o foreredti H & W ST -

() ©.B.DA
(2) CD,B,A
(3) A DBC
(4 D,B,C A
Options :
42558916704. 1
42558916705. 2

42558916706. 3
42558916707 4

Question Number : 14 Question Id : 4255894302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the risks of plagiarism for the researcher who plagiarises ?
A.  Losing of the Inspiration

B. Losing of the obtained titles

C. Destruction of obtained solutions

D. Destroying the public image

Choose the most appropriate answer from the options given below :

(I) A andC Only

(2) Band C Only

(3) Band D Only

(4) Cand D Only
Options :

42558916708. 1
42558916709. 2
42558916710. 3
42558916711. 4



Question Number : 14 Question Id : 4255894302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
weRkal o fe o § - wifefoaes < &% Sifem €2
A, U F B
B. T YN o B
C. 9 §HIHHE k1 foAm
D. i Bfa &1 fasy
= feu U fosredi | 9 W& I A ¢

(1) o A 3RC

(2) A BIRC

(3) aA B SR D

(4) @ C 3R D
Options :

42558916708. 1
42558916709. 2
42558916710. 3
42558916711. 4

Question Number : 15 Question Id : 4255894303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II :

List - I List - II
- | . B
opulation mean dan = . Oopulation sitandaar eviaiuon (o
[Populat () dNZx,] [Populat tandard deviation (o)]
2 2=117
A, u=9, ﬁzlf— L. 10
10, — 5 x2=200
B. u=10, ﬁz.xi— I 4
Ly 200 :
C. u=1, Ez:r,-— . 6
1 2
D. u=12, ﬁZx,- =160 IV. 9

Choose the correct answer from the options given below :
(1) A-II, B-1V, C-1, D-II

(2) A-LL B, C-IV, D-1II

(3) A, B-I, C-IV, D-II

(4) A-L B-1V, CI, D-11II

Options :

42558916712. 1

42558916713.2

42558916714.3
42558916715. 4



Question Number : 15 Question Id : 4255894303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
et -1 Tt - 11

. 1. 5 .
[ SEEAT We () N ﬁfo ] [SEE " faere T (o)]

|

A, u=9, EZI,:H? L 10
I

B, u=10, X% =200 I 4
1 2

C. u=11, §2x5=202 . 6
1 2

D. u=12, szf-:lﬁﬂ IV. 9

= feu o foepedi H 9 @& T A -

(1) A-II, B-1V, C-I, D-II
(2) A-IL B-I, C-1V, D-1II
(3) A, B-1, C-1V, D-II
(4) A-L B-1vV, C-I, D-1II

Options :

42558916712. 1

42558916713. 2

42558916714.3
42558916715. 4

Question Number : 16 Question Id : 4255894304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who directed the first talkie feature film made in India ?
(1) Ardeshar Irani

(2) Ritwik Ghatak

(3) Dada Saheb Phalke

(4) Bimal Roy

Options :

42558916716. 1

42558916717. 2

42558916718. 3
42558916719. 4



Question Number : 16 Question Id : 4255894304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

s # fAfa wam serd (2R drer firen =1 fHeem fore fean an ?

(1) 3T/ A

(2) fifeer ===%
(3) T HE HIeh
(4) foma
Options :

42558916716. 1
42558916717.2
42558916718. 3
42558916719. 4

Question Number : 17 Question Id : 4255894305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who directed the first film made in India ?
(1) Satyajit Ray

(2) Dada Saheb Phalke

(3)  Prithvi Raj Kapoor

(4) Ardeshar Irani

Options :

42558916720. 1

42558916721.2

42558916722. 3
42558916723. 4

Question Number : 17 Question Id : 4255894305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

sy 7 fAfa gem fren =1 fadee forem foram en?
(1) Fegsia 1

(2) <€l |Es Feh

(3) g T FR

(4) STRIR AT

Options :

42558916720. 1
42558916721.2
42558916722. 3
42558916723. 4



Question Number : 18 Question Id : 4255894306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct chronological order of the following television programmes released on
Doordarshan in India (from earliest to latest)?

A.  Mahabharatha
B. Chandrakanta
C. Hum Log

D. Ramayana

E. Buniyad

Choose the correct answer from the options given below :
1 & BC BE

2} CEDAB

3) BC A DE

4 B, ADEC

Options :

42558916724. 1

42558916725. 2

42558916726. 3
42558916727. 4

Question Number : 18 Question Id : 4255894306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

R H e W e eefifasm Frfsmei it Wet doskn (Faifus sifvyes § F&@aq aF) #n € ?

A, HEWA
B.  =ehidl
C. B9
D. ImEW
E. dfr
=1 feu o fasedi § 9 W@ ST A ¢

) ABCDE

0 CED,AB
@) B,C A DE
4) B,AD,EC

Options :

42558916724. 1
42558916725.2
42558916726. 3
42558916727. 4



Question Number : 19 Question Id : 4255894307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What among the following films are directed by Satyajit Ray ?

A, Madhumati
B. Apur Sansar
C. Sujata

D.  Aparajito

E.

Pather Panchali

Choose the most appropriate answer from the options given below :
(1) B, D and E Only

(2) A and C Only

(3) A, B, CandD Only

(4) A, Band COnly

Options :

42558916728. 1

42558916729. 2

42558916730. 3
42558916731. 4

Question Number : 19 Question Id : 4255894307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= o | Tegsiia Y gr fefvm frew m o €2

A, HEHA

B. X HER

C. g

D.  Sfuufedl

E. W gt

Fr= fau o fosredi 8 9 W& T A ¢
(1) @ B, D 3RE
(2) FFa A3RC

(3) @FaA A, B,C3RD
(4) oFEA A, B3R C
Options :

42558916728. 1
42558916729.2
42558916730. 3
42558916731. 4



Question Number : 20 Question Id : 4255894308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List - 1 List - II
(Meaning) (Terms)
A.  Who L. Receiver
B.  Says what II. Communicator
C.  In which channel III. Message
D. To whom IV. Medium

Choose the correct answer from the options given below :
(1) A-I, B-1I, C-I, D-IV

(2) A-L B-1v, C1I, D-II

(3) Al B-II, C-IV, D-1

(4) A-Iv, B-1I, C-I, D-1II

Options :

42558916732. 1

42558916733. 2

42558916734.3
42558916735. 4

Question Number : 20 Question Id : 4255894308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - 1o Gt - 1 At
e -1 - 11

(3ref) (7g)
A, A I T ol
B. @Al . HEE
Cc. Trg=aeH [ H3w
D. fe&Ed V. W
9 feu o fawed § | wé s 9

(1) A-l, B-IL C-1I, D-IV
(2) Al B-1Iv, CII, D-II
(3) A-II, B-III, C-1V, D-I
(4) A-IV, B-1I, C-I, D-1II

Options :

42558916732. 1

42558916733.2

42558916734. 3
42558916735. 4



Question Number : 21 Question Id : 4255894309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (7) in the series given below.
7, 12, 32, 122, 2, 3602, 252(2

(1) 602
(2) 610
(3) 702
(4) 622
Options :

42558916736. 1
42558916737.2
42558916738. 3
42558916739. 4

Question Number : 21 Question Id : 4255894309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
3G HE&A 1 9l oG S e # 9 o (2) 1 wiaeniud 6 |
7,12, 32, 122, 7, 3602, 256202

(1) 602
(2) 610
(@) 702
(4) 622
Options :

42558916736. 1
42558916737.2
42558916738. 3
42558916739. 4

Question Number : 22 Question Id : 4255894310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language :
‘NOIDA" is written as : 1, 4, 9, 15, 14
‘INDIA’ is writtenas : 1, 9, 4, 14, 9
How ‘"HELLO’ will be written in this language ?
(1} 15,12,12,5,8

{2y 5,12, 12,15 8

(3) 8,5 12,12, 15

(4) 12,5,12,8,15

Options :

42558916740. 1

42558916741. 2

42558916742. 3
42558916743. 4



Question Number : 22 Question Id : 4255894310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HaTT FZ AW H :
‘NOIDA’ 1 ‘1, 4, 9, 15, 14’ & ¥9 ¥ foan 9 T
‘INDIA’ %171, 9, 4, 14,9 % ¥4 ¥ foran mam g
IR Y H ‘HELLO' %l Y feran s ?
(1) 15,12, 12,5, 8
(2) 5,12, 12,15, 8
(3) 8,5 12,12, 15
(4) 12,5, 12, 8,15

Options :

42558916740.
42558916741.
42558916742.
42558916743.

AW N~

Question Number : 23 Question Id : 4255894311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statement(s) is/are wrong ?

A. A man runs at a speed of 20 km/hr and covers a distance of 400 m. The time taken by the
man to cover 400 m is § minutes.

B. A person covers a certain distance at x km/hr and an equal distance at y km/hr. The

average speed during the whole journey is ﬁ km/hr.

1
C. A Cydlist covers a distance of 750 m in 25 minutes. The speed of the cyclist is 18 km/hr.

5x
D. A speed of x km/hr is equal to E m/ sec

Choose the most appropriate answer from the options given below :
(1) A Only

(2) Aand BOnly

(3) A and C Only

(4) B, CandD Only

Options :

42558916744. 1

42558916745.2

42558916746. 3
42558916747. 4



Question Number : 23 Question Id : 4255894311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e & | F9 T8 weH e §2

A, afe ws =fa 20 /e # 0f | Sea T o 400 WX # g8 79 AT €, 91400 H. g @
w0 H 39 8 fige &1 90 o ©

B. W& =AfH x &= =i nfa ¥ wah <t 70 o & iR 3o & gy TR e =t fa § sa e 2
2
el I T ST sia T %ﬁﬁq}fﬁ%%
C. & HEfaa =@ 750 Hiz & gl 2% e © a9 a1 €1 39 HiEfehel =eteh #1 fd 18 fRei=a
el

D. xRt/ =R f—s AT % S

= fau o foeredi § | Wé 3 A ¢
(1) A A

(2) e A BB

(3) oA A SR C

(4) %Fa B,C3RD
Options :

42558916744. 1
42558916745. 2
42558916746. 3
42558916747. 4

Question Number : 24 Question Id : 4255894312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When a producer allows 36% commission on the retail price of his product, he earns a profit of
8.8%. What would be his pmfil if the commission is reduced by 24% ?

(1) 36.6%
(2) 49.6%
(3) 59.6%
(4) 45.6%

Options :

42558916748. 1
42558916749. 2
42558916750. 3
42558916751. 4



Question Number : 24 Question Id : 4255894312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S HIE IAEF ST 3G ok el Yod T 36 e FHEH a1 7 9 39 8.8% T W < ¥ 1 Af 3w
FHA H 24 GFa9rd 1 Frdr oL < Sl 39 fhRan ey e g ?
(1) 36.6%
(2) 49.6%
(3) 59.6%
(4) 45.6%
Options :
42558916748. 1
42558916749. 2

42558916750. 3
42558916751. 4

Question Number : 25 Question Id : 4255894313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A sum was put at simple interest at a certain rate for 3 years, Had it been put at 1% higher rate, it
would have fetched ¥5100 more. Find the sum.

(1) < 170,000

(2) ¥ 150,000

(3) 175,000

(4) ¥ 200,000

Options :

42558916752. 1

42558916753.2

42558916754. 3
42558916755. 4

Question Number : 25 Question Id : 4255894313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ek Y09 i fordt aram samet € W 3 99 & foan sman © 1 afe 39 vt = 1% eifues gt o fean s
1T 5100 21fersk U B9 1 39 GFAf 1 T ey |
(1) % 170,000
(2) % 150,000
(3) ¥ 175,000
(4) T 200,000
Options :
42558916752. 1
42558916753.2

42558916754. 3
42558916755. 4



Question Number : 26 Question Id : 4255894314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements contradict each other ?

A, All ducks are birds.

B. Some ducks are birds.

C. Some ducks are not birds.

D. No ducks are birds.

Choose the most appropriate answer from the options given below :
(1) AandD Only

(2) Band COnly

(3) Band D Only

(4) Cand D Only

Options :

42558916756. 1
42558916757. 2
42558916758. 3
42558916759. 4

Question Number : 26 Question Id : 4255894314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefea #§ & %F-9 oA TF g 1 S Hd © 2

A, Ot s vl B €

B. %o @ Ul g €

C. Osft s el el o

D. I o el e g |

1 fau o fasredi o | wWé s A -
(1) oFFA A AR D

(2) FFABERC

(3) <A B ERD

(4) FA C AR D

Options :

42558916756. 1
42558916757.2
42558916758. 3
42558916759. 4



Question Number : 27 Question Id : 4255894315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If the statement “No birds are animals” is given as false, which of the following statements can be
inferred to be true ?

A.  Some animals are not birds.

B. Some birds are not animals.

C. Some animals are birds.

D. Some birds are animals.

Choose the most appropriate answer from the options given below :

(1) Aand BOnly

(2) Cand D Only

(3) B Only
(4) A, B, CandD
Options :

42558916760. 1
42558916761.2
42558916762. 3
42558916763. 4

Question Number : 27 Question Id : 4255894315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ifg T g veft SIFeR T BT ©' R ST U W ® o FrefafEa § ¥ 8w F 9 o
STHF TR 1 Fehall © 2

A, T SR el 72 8 €

B. F® Ul SHaX & & €|

C. &8 IR 9&fi 2 €1

D. %o el STer 2 € |

1 fau o foeredi # | WE s A ¢
(1) oaA A SATB

(2) oda C 3D

(3) <ReA B

(4) A,BC3RD

Options :

42558916760. 1
42558916761.2
42558916762. 3
42558916763. 4



Question Number : 28 Question Id : 4255894316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“This is the richest fraternity on the campus; therefore Mr. X who is a member of this fraternity
must be one of the richest young man on the campus.” Which fallacy is involved in this
argument ?

(1) Fallacy of division

(2) Fallacy of irrelevant conclusion

(3) Red Herring

(4) Slippery slope

Options :

42558916764. 1

42558916765. 2

42558916766. 3
42558916767. 4

Question Number : 28 Question Id : 4255894316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" 21 Ui o FeH 95 aY 998 ©; ST 41 TE (X) ST 39 9T HYE % e ¢, ol TRET ok 9Hgan
A | 9 T B Afes | 39 gia | hiA-H1 Tehary forRmH € 7

(1) fere-<m

(2) iR fafg g

(3) YTHE HeRd

(4) TruegH Tad
Options :

42558916764. 1
42558916765. 2
42558916766. 3
42558916767. 4

Question Number : 29 Question Id : 4255894317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of increasing extension.
A.  Social Science

B.  Political Science

C.  Sciences

D. Politics of International Relations

Choose the most appropriate answer from the options given below :
(1] <4:B D

2 ACBD

(3) B DAC

4 DB AC

Options :

42558916768. 1
42558916769. 2
42558916770. 3
42558916771. 4



Question Number : 29 Question Id : 4255894317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa =1 92t ar@d & 0§ safe Fif

A.  HEE fagm

B. SHIfdfasH

C. fogm

D. s=Rifeg e s et
=1 feu 7o fased § ¥ W/E SR ¢

(1) CA,BD
2 ACBD
(3) B,DAC
(4 D,B AC
Options :
42558916768. 1
42558916769. 2

42558916770. 3
42558916771. 4

Question Number : 30 Question Id : 4255894318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to the classical Indian school of logic, which of the following instruments of knowledge
is defined as the knowledge of the relation between a word and its denotation and is produced by
the knowledge of resemblance or similarity ?

(1)  Pratyaksa (perception)
(2) Anumana (inference)
(3) Upamana (comparison)

(4) Sfabda (verbal testimony)

Options :

42558916772. 1
42558916773. 2
42558916774. 3
42558916775. 4



Question Number : 30 Question Id : 4255894318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YT YA TeRIe Ha o S1aR Hefcfaa § 9 961 & {60 916H 1 v2 3 39 a5ad & o9 Ja4
% FH % w9 H gRenfud foran stran € 1R wigvad & 99 & ®9 H Ioa fohar s €2

(1) 9a&
(2) STIHM
(3) S
(4) ]
Options :

42558916772. 1
42558916773. 2
42558916774.3
42558916775. 4

Question Number : 31 Question Id : 4255894319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following is an example of IEEE 802.3 ?

(1) LAN
(2) MAN
(3) WAN
(4) PAN

Options :

42558916776. 1
42558916777. 2
42558916778.3
42558916779. 4

Question Number : 31 Question Id : 4255894319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafaa & & s34 802.3 (IEEE 802.3) foFant Us 3ereww 22
(1) TATEA. (LAN)

(2) THUTEA (MAN)

(3) T=E.LE. (WAN)

(4) WL (PAN)

Options :

42558916776. 1
42558916777. 2
42558916778. 3
42558916779. 4



Question Number : 32 Question Id : 4255894320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following technologies is used in second generation of computer ?
(1) Vacuum tubes
(2) Transistors
(3) Integrated Circuits
(4) VLSI
Options :
42558916780. 1
42558916781. 2

42558916782. 3
42558916783. 4

Question Number : 32 Question Id : 4255894320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frferfaa & & St dRifmerT s i fadm G o vge =1 S e 2

(1) S g

(2) Fifores

(3) wHfwa Hfkew

(4) SLUATE.SE. (VLSI)
Options :

42558916780. 1
42558916781.2
42558916782. 3
42558916783. 4

Question Number : 33 Question Id : 4255894321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct sequence of increasing access time of storage/memory devices ?

A.  Magnetic tape
B. RAM

C. Cache memory
D. Hard disk

E. Registers

Choose the correct answer from the options given below :
1y A, BCDE

2y BECAD

3) ECBDA

4 CEBAD

Options :

42558916784. 1

42558916785. 2

42558916786. 3
42558916787. 4



Question Number : 33 Question Id : 4255894321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

farafefiaa o & s LE/AHR SRl & ded (T 28T (TEH 9H4) T % €7

A.  HHfesw 29
B. 1 (RAM)
C. 9 "EH
D. @ fe=r
E

. =

9 feu v faedi § | wE S 9
(1) A BCDE

(2) BECAD

(3) EC B,D,A

(4) CEBAD

Options :

42558916784. 1

42558916785. 2

42558916786. 3
42558916787. 4

Question Number : 34 Question Id : 4255894322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
With reference to cyber attacks, which of the following statements are correct ?

A Malware is a malicious software designed to cause damage to a single computer, server or
computer nebwork.

B.  Types of malware include computer viruses, worms, trojan horses, ransomware and spyware.
C. Pegasus is a malicious software classified as Ransomware.

D. India is not a signatory to the Budapest convention on cybercrime.

Choose the most appropriate answer from the options given below :

(I) A Band COnly

(2) B,CandD Only

(3) A, B CandD

(4) A, Band D Only

Options :

42558916788. 1
42558916789. 2
42558916790. 3
42558916791. 4



Question Number : 34 Question Id : 4255894322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefefiaa # § 9 Fud aeet eaal & gef o we €2
A, TEER O fagug SiweeR € o U Ukl e, et A e Aeeh o AR wgeH o ferg
sAfvrerfeaa T T B
B.  HIETRR % USRI H FFeR Ry, d1e, 2o 2, FEHag 3R WEeeR aftfed €
C. YT SR % B9 T oifieha wek fagergol aidesT ¥
D. 9Rd HEE- 390 T FEre ARRTg W UF SEaaEd oF 76 g

= fau o foeredi § | W& T A ¢
(1) &aa A, B3RC

(2) @&d B, C 3D

(3) ABC3RD

(4) oFFd A, B3RD
Options :

42558916788. 1
42558916789. 2
42558916790. 3
42558916791. 4

Question Number : 35 Question Id : 4255894323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - 1 List - II
(Operating system) (Task)
A. UNIX 152 Assist users in system maintenance task
B. MS-DOS I[I. Mobile device
C.  Android OS III. Single user operating system
D.  Utility programs IV.  Multi user operating system

Choose the correct answer from the options given below :
(1) A-I, B-IV, C-1, D-II

(2) A-L B-II, C-1V, D-1II

(3) A-LV, B-lIlI, C-11, D-1

(4) A-Il, B-I, CI, D-IV

Options :

42558916792. 1

42558916793. 2

42558916794. 3
42558916795. 4



Question Number : 35 Question Id : 4255894323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
et -1 Tt - 11

( erroufeT fawewm) (=Td)
A, FUAHAETH. (UNIX) [.  YUTel % TEvEE FE H el
1 FETFdl L @ |
B. TATH.EM (MS-DOS) . Hiarse 39
C. T=ERE ALTHE. (Android OS) 1. foe gor sfen fae=n
D. Fffeet dmms (ST FEy) IV. Wedl-gor sfifer fawen
=1 feu o fasredi § ¥ W@ IW A ¢

(1) A-lI, B-IV, C-I, D-II
(2) A-l B-II, C-IV, D-III
(3) A-IV, B-III, C-1I, D-1
(4) A, B-1I, CI, D-1IV

Options :

42558916792. 1

42558916793.2

42558916794. 3
42558916795. 4

Question Number : 36 Question Id : 4255894324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about coliform bacteria ?

A.  They are used to test water contamination.

B. Coliform bacteria are harmless and cause no disease.

C.  They are found naturally in human intestinal tract.

D.  Their presence in water is an indication of fecal contamination.
Choose the most appropriate answer from the options given below :
(I) AandD Only

(2) Band COnly

(3) A, CandD Only

(4 A B CandD

Options :

42558916796. 1
42558916797.2
42558916798. 3
42558916799. 4



Question Number : 36 Question Id : 4255894324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa 5 9 Fafered siam & an § FH9 FoH 96§ 2

A, T® Sa-9guW F afta § ygad feen S

B.  wIfawH Siiamy e e ¥ 3R foRe I 1 3o 7 &ed §
C. T OGN 71 H o §9 § 9 S ¥

D. ¥ gl faemmar faen dgum %1 uF ek 2

1 feu o foedi # | 9@ SR T ¢
(1) aa A 3RD

(2) A BIRC

(3) HIA A, C3HRD

(4) A, B, C3RD
Options :

42558916796. 1
42558916797. 2
42558916798. 3
42558916799. 4

Question Number : 37 Question Id : 4255894325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Why is the concentration of CO, is more in the Northern Hemisphere than the Southern
Hemisphere ?

A. Land mass is more in the Northern Hemisphere.
B. Ocean body is more in the Southern Hemisphere.
C. Fossil fuel is burnt more in the Northern Hemisphere.

D.  Northern Hemisphere is colder than the Southern Hemisphere.
Choose the most appropriate answer from the options given below :
(1) A andC Only

(2) B,CandD Only

(3) A, Band COnly

(4) Band D Only

Options :

42558916800. 1
42558916801. 2
42558916802. 3
42558916803. 4



Question Number : 37 Question Id : 4255894325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
gfaqor Tl st qer # ST Trensd § CO, H Wh<w i o7fuE T2
A, I Tieny # ym-fiE sfuw g
B.  Gfeor e W HeTan SAEF T |
C. =udl Tirend # Sfawy fum e1fues e €
D.  <f&or Tirensl st qern # Sad e sifue gve €

A= feu o fasred # T W@ IO
(1) aa AR C

(2) @%ad B, C #iR D

(3) HaA A, B3R C

(4) e B B D

Options :

42558916800. 1
42558916801. 2
42558916802. 3
42558916803. 4

Question Number : 38 Question Id : 4255894326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Increasing the ratio of fissile Uranium (U-235) in natural uranium is known as :
(1) Enhancement
(2) Concentration
(3) Accumulation
(4) Enrichment
Options :
42558916804. 1
42558916805. 2

42558916806. 3
42558916807. 4

Question Number : 38 Question Id : 4255894326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
wkfaek e ¥ fagea 1y (3235) % A9um &1 gy e | | fmg w1 8 S e © 2
1 wifs

(2) HE=m

(3) H=EA

“ w3
Options :

42558916804. 1
42558916805. 2
42558916806. 3
42558916807. 4



Question Number : 39 Question Id : 4255894327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct sequence, from initial to final, of surface waste water treatment ?
A.  Disinfection

B. Sedimentation

C.  Filtration

D.  Screening

Choose the correct answer from the options given below :
(1) A BCD

2 A BDC

3} D;B:.AC

4 D,BCA

Options :

42558916808. 1
42558916809. 2
42558916810. 3
42558916811. 4

Question Number : 39 Question Id : 4255894327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el UM STel SYER 9 STRIYE § oifaw, Tef o wn e ?

A, ToEsEm

B. HawEEA

C. freued

D. GRIT

1 fau o fasredi o | wWé s A -

(1) ABCD
(2) A BD,C
(3) D,BAC
(4 D,B,C A
Options :
42558916808. 1
42558916809. 2

42558916810. 3
42558916811. 4



Question Number : 40 Question Id : 4255894328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are differences between Modified Mercalli Scale (MMS) and Richter Scale
(RS) ?

A. RS measures the energy released while MMS measures both energy and devastation
B. RS uses linear scale while MMS uses logarithmic scale

C.  Value of RS is constant in an earthquake while MMS varies depending upon distance
D. Levels in RS is more than MMS

Choose the most appropriate answer from the options given below :

(1) Aand BOnly

(2) Band COnly

(3) Cand D Only

(4) A and C Only

Options :

42558916812. 1
42558916813.2
42558916814. 3
42558916815. 4

Question Number : 40 Question Id : 4255894328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TN ALehell Thel (TH TH TF) AR T ©hel (31 TH) & o9 #=1-31 dAa €7

A. ¥ UY Hifad el & HYal § SefE TH Uy vy Sei T Iw9ed S i HIal B

B. IR UY L&Y THel T WA FAl © Tl TH UH U9 AR 0 Shet 1 WERT e ¥
C. b9 ¥ 3R TH & AH feer 2 & sEfe w7 wn vy # it % SER fiea 3 2

D. TUH UY TH F 37947 3R 09 H T 2774 24 2|

= feu o fomredi O | W@ SR A -
(1) ©oFaa A JARB
(2) FFABERC
(3) oEa C 3R D
(4) FEA A ARC
Options :

42558916812. 1
42558916813.2
42558916814. 3
42558916815. 4



Question Number : 41 Question Id : 4255894329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In an ancient period, the Diksha Guru performed his duty as :
(1) Guru of secular subjects

(2) Spiritual guide for both girls and boys
(3) Spiritual guide of boys

(4) Tutor

Options :

42558916816. 1
42558916817.2
42558916818. 3
42558916819. 4

Question Number : 41 Question Id : 4255894329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T e H St TE % ®9 T o9 Felea 1 el wear o
(1) =@ o Feaet ol =1 7T o1

(2) TSfRAl 3T TASHI SHI 1 ATEATHE ANGYH ol

(3) IR H1 Ao ArTEIiE o

(4) SHEE (ZT0) F TG H 0 Fded F1 fHaed wa o

Options :

42558916816. 1
42558916817.2
42558916818. 3
42558916819. 4

Question Number : 42 Question Id : 4255894330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which international organization co-ordinates the education for all programme at the global
level ?

(1) UNDP
(2) UNESCO
(3) IMF

(4) UNEP
Options :

42558916820. 1
42558916821.2
42558916822. 3
42558916823. 4



Question Number : 42 Question Id : 4255894330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT ST e, Sfvas T W geres forw e sy &1 gued w8 2

1 AWIHR
@ TR

(3) o UH UH
4 Jwgd
Options :

42558916820. 1
42558916821.2
42558916822. 3
42558916823. 4

Question Number : 43 Question Id : 4255894331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following events in the correct chronological sequence.
A.  Establishment of the University of Madras

B. Introduction of the Indian Universities Act

C.  Establishment of UGC

D.  First National Education Policy of India

Choose the correct answer from the options given below :
1y ABCD

2y A DCB

3) BCAD

4 C B AD

Options :

42558916824. 1
42558916825.2
42558916826. 3
42558916827. 4



Question Number : 43 Question Id : 4255894331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fefafEa seT1eti 1 el ey H Sqaited Hifd |

A, WEY favafaEme™ & =

B. YRdE favafasmed sifufam & quEmE
C. fovafaerem =M @R (ST ) F T
D. 9Rd @ Yol Uiy foen Hifa

= feu o fosed § | wé A -

(1) A, BCD
2 ADGCH
(3) B,CAD
(4 C,B,A D
Options :
42558916824. 1
42558916825.2

42558916826. 3
42558916827. 4

Question Number : 44 Question Id : 4255894332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As per National Education Policy 1986, the major functions of the National Apex Body are :
To allocate resources

To evaluate the examination system

To advise government on policy

To encourage inter-disciplinarily and promotion of interfaces among different areas.

mO0® e

To conduct research in higher education

Choose the correct answer from the options given below :
(1) A C EOnly

(2) B,D and E Only

(3) €, DandE Only

(4) A Cand D Only

Options :

42558916828. 1

42558916829. 2

42558916830. 3
42558916831. 4



Question Number : 44 Question Id : 4255894332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
U T Hifa 1986 % STHR T Y fHepma (F9a T 91el) & 9qE % ©
A, HEYA A€fed FmE

B.  RI&T YUNE 1 oA HTA

C. ifd % Geiy ® ALER H TAE 1

D. s-fougsradl & sgen e &R fu=i-fa= &5 & sfaugei &t agen o
E.  3=a foan § 9y e

= feu U foskedi § | W& I A -

(1) & A, C,E

(2) %ad B, D 3RE

(3) %aa C, D3R E

(4) A A, C #RD
Options :

42558916828. 1
42558916829. 2
42558916830. 3
42558916831. 4

Question Number : 45 Question Id : 4255894333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - I List - 1T
(Name of the institutions) (Function)
A. NIEPA 152 Ensuring Quality
B. RUSA II.  Providing loans to higher education institutions
C. QAA I[II. Infrastructure development for upgrading the
existing colleges into model colleges
D. HEFA IV. Promoting Research in planning and management

Choose the correct answer from the options given below :
(1) A-L B-II, CI, D-IV

(2) A-lL B-II, C-MII, D-IV

(3) A-L B-1v, C1I, D-II

(4) A-IV, B-1II, C-1, D-II

Options :

42558916832. 1

42558916833. 2

42558916834. 3
42558916835. 4



Question Number : 45 Question Id : 4255894333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
Tt - 1

TEAT T A0
A, T EE 3 U () L
B. SRIWHT IL
C. HTUU ML
D. THETHT IV.
= feu T faepedi § 4 WE S A

(1) A-I B-III, C-II, D-IV
(2) AL B-, C-III, D-IV
(3) A-l B-1Iv, C-II, D-II
(4) A-IV, B-1Il, C-I, D-II

Options :

42558916832. 1

42558916833. 2

42558916834. 3

42558916835. 4

Sub-Section Number :

Sub-Section Id :
Question Shuffling Allowed :

gt - 11

Eap |

T[oTerl G A

Fea Toren st deenedi o B0 yeH S

HIS[g1 wTersl oh1 TR Ferehl TeY e (Hiee FHers) a1
ST AR Ya e | 9 1 AeEtfed wE

3
425589177
No



Question Id : 4255894334 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage carefully and answer the questions .

Forced by circumstances and in search of success and status, educated young men and women
settle far away from their parents. Some go abroad. The very education that the parents manage
to give to their children turns against them in the end. Their children go away in search of green
pastures leaving them alone. International community as well as our government is aware of
their problems. The UNO proclaimed the year 1999 as ‘International Year for the Aged’. In our
own country too the year 2000 was proclaimed ‘The Year for the Aged".

Article 41 of our constitution clearly makes it incumbent on the state to look after the aged.
There is a social welfare ministry responsible for the welfare of the aged. Laws are made from
time-to-time to protect the rights of senior citizens. For example under law parents cannot be
evicted from a house without due process of law under section 105 of the Criminal Procedure
Code. A magistrate can order a person to maintain his/her old parents under the Maintenance of
Parents Act. The Hindu Adoption and Maintenance act says that the aged parents can demand
for maintenance from their children. The Domestic Violence Act also provides parents with the
rights to seek relief from any kind of abuse.

Sub questions

Question Number : 46 Question Id : 4255894335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to passage, who usually leaves their parents in lurch ?
(1) Disobedient wards

(2) Frustrated youth

(3) Career seeker children settled in distant places

(4) The ones who have job insecurity

Options :

42558916836. 1

42558916837.2

42558916838. 3
42558916839. 4

Question Number : 47 Question Id : 4255894336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The year 1999 was proclaimed as :
(I) National year for the aged

(2) Universal year for the aged

(3) International year for the aged
(4) SAARC year for the aged
Options :

42558916840. 1

42558916841. 2

42558916842. 3
42558916843. 4

Question Number : 48 Question Id : 4255894337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



nder section of the criminal procedure code, parents cannot be evic rom a house :
Und tion 105 of tt al d d t t b ted f h

(1) Without due process of law

(2) In any situation

(3)  Without submitting their will

ess their property is transferred to their legal heir

4)  Unless their prop is transferred to their legal h
Options :
42558916844. 1
42558916845. 2

42558916846. 3
42558916847. 4

Question Number : 49 Question Id : 4255894338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who is empowered to give order to the concerned for the maintenance of their parents ?
(1) A retired judge

(2) Thejudge of the High-Court

(3) Local Sarpanch

(4) A magistrate

Options :

42558916848. 1

42558916849. 2

42558916850. 3
42558916851. 4

Question Number : 50 Question Id : 4255894339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Act/Section does give parents rights to seek relief from any kind of
abuse ?

(1) Hindu Adoption and maintenance Act

(2) Section 105 of CPC

(3) The Domestic Violence Act

(4) Section 98 of CPC

Options :

42558916852. 1

42558916853. 2

42558916854. 3
42558916855. 4



Question Id : 4255894334 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Freferfae et &t sargde o 3it uvw Hem @ & S e

g 9 faeet 2o SR her U qe-afatel i @re § e 7Ey SR Afeard 7o Hal- o € 55
T W ¢ | F2 wafoa Tagw = s ¥ | wran-firan 2o =4t &1 fo foran 671 foen ww € 96 o § =9 fows
e o Tl € | 39 I=9 Get SOl 1 Erel § 3% ool 91 &d € | Sy auerd & WY- 9y el GUEr
IeR! THETS § uifad § 1 S T HWe A 9 1999 T Sfaim ggem o ' Hfa feren gar < H off = 2000
%1 oo od ' wifue foREn T o1 | SAR HiHH & ST Ess-41 H gasHi o fedl il a@uie o Ay T 1 e
ST ST T ¥ | TS oA WA ggerl & Fedm & fag saerdt ® | afte it % arferenl s geem
3 % o g 98 FH 99 S € | SeReond, #H & effa srafie < wfEar (L dd) #t ema-105
o i A i TE Yiwar & foe wra-foar &1 =) 9 SeEd T@l fFa S ekl | oo % o
e sifufm % sfmia afonee =afa 1 9% 95 ara-Toa 3 sXo-dmor 1 2ew € e ¢ 1 feg aae 8k
sor-dreor stferfrem § et T € foF g Wi e 1o S | 9Ror-ueor s Wi R weEd ¥ | e fean sifufrm
H foreht off e & Sfedeen ¥ Ted UM & g wrar-foar i sifeepr <9 i SFaeen i T T

Sub questions

Question Number : 46 Question Id : 4255894335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TP T SER i 3T T H e me-foa w S €2
(1) SRR s

(2 frwm g

(3) SE T W R = a9 =

(4) 9, TSR At STIiET §

Options :

42558916836. 1
42558916837.2
42558916838. 3
42558916839. 4

Question Number : 47 Question Id : 4255894336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a4 1999 =1 for| w9 7 =it ferzm simar a1 ?
(1) T FEe 9

(2) HEHHE gE=E 99

(3) SaUeg gge T

(4) EF (SAARC) g&sH a4

Options :

42558916840. 1
42558916841.2
42558916842. 3
42558916843. 4

Question Number : 48 Question Id : 4255894337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ArRIfere <2 Ufshan & UmI-105 & 3favia urar-Toar = =] ¥ SeEd T6l B o g
(1) =T i g9 gfwan & fom

(2) ToRdm off feafa #

(3) IR e W ferg fer

(4) T TF ITH TEUCT ITH FIA ARG H STafed T F & A

Options :

42558916844. 1
42558916845.2
42558916846. 3
42558916847. 4

Question Number : 49 Question Id : 4255894338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafiaa # § #m Heifua safaq o1 s Ar-faa & sRor-de 1 e <7 % for g &2

(1) HartTga =mnd
(2) S=A AT T AT
(3) TUHE THE
(4) wfe
Options :

42558916848. 1
42558916849. 2
42558916850. 3
42558916851. 4

Question Number : 50 Question Id : 4255894339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafea & | smaysFE afuf=mam fFa v & geioer | e 9 F fau qma-foa #1 sifier
WS FAVFTA & ?

(1) feg &k &R swo-dio sifufam
(2) HLELH = ¥0-105
(@) e o arfufm
(4) HHHF UR98
Options :

42558916852. 1
42558916853.2
42558916854. 3
42558916855. 4

Persian
Section Id : 42558964
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 425589178
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 4255894340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Among the critics of Persian Literature, who has written that 4<U sL3 ig excessively longer 4ules

QS (o) (mallue %

UL BT Y- 2
Ailye g 3
By O 4

Options :

42558916856. 1
42558916857. 2
42558916858. 3
42558916859. 4

Question Number : 51 Question Id : 4255894340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Among the critics of Persian Literature, who has written that 4<U sL% is excessively longer “wle

QS (o) (meallue %

Oslw el 2
sl e 3
By o 4

Options :

42558916856. 1
42558916857.2
42558916858. 3
42558916859. 4

Question Number : 52 Question Id : 4255894341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ethnically she was an Arab, born at a place known as Khozdar in Baluchistan. She was killed by
her brother for her affair with her slave. She is considered as the first Persian poetess and known
as sl ()

Coall () Sl el ]

S age 2

S pyy L3

el 4

Options :

42558916860. 1
42558916861. 2
42558916862. 3
42558916863. 4



Question Number : 52 Question Id : 4255894341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Ethnically she was an Arab, born at a place known as Khozdar in Baluchistan. She was killed by
her brother for her atfair with her slave. She is considered as the first Persian poetess and known
as sl ()
ol Cpy s (el
SIS g 2
SR wsy .3
lal, 4
Options :
42558916860. 1
42558916861. 2

42558916862. 3
42558916863. 4

Question Number : 53 Question Id : 4255894342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Besides being a prominent Persian poet of Samanid era, he was a leading philosopher of his time.

He is also known for his debates with his contemporary philosopher and scientist (pess S gl

@il ek Sy
Slugd ]
S yhe Sga8 2
w3

w2 2 4
Options :
42558916864. 1
42558916865. 2
42558916866. 3
42558916867. 4

Question Number : 53 Question Id : 4255894342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Besides being a prominent Persian poet of Samanid era, he was a leading philosopher of his time.

He is also known for his debates with his contemporary philosopher and scientist (pless S gl

TEIEITS
Shaed ]
FBue Haxd 2
B3

e A 2 4
Options :
42558916864. 1
42558916865. 2
42558916866. 3
42558916867. 4



Question Number : 54 Question Id : 4255894343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Among the following poets, who was not contemporary of Ghaznavids:

Slas :1
bl A ol 2
& e 3
s -

Options :

42558916868. 1
42558916869. 2
42558916870. 3
42558916871. 4

Question Number : 54 Question Id : 4255894343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Among the following poets, who was not contemporary of Ghaznavids:

Slnue =
(laal & (] 2
e 3
<ol -

Options :

42558916868. 1
42558916869. 2
42558916870. 3
42558916871. 4

Question Number : 55 Question Id : 4255894344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
According to the scholars like (s B s ol e and (e (pall SPs who among the following is
not among the earliest poets of Persian.
Sas yima gl sl 1
S 3= e

i g Y dema

B oW oo

S8 pens (a9
Options :
42558916872. 1
42558916873.2
42558916874. 3
42558916875. 4



Question Number : 55 Question Id : 4255894344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
According to the scholars like iy # s il e and (et (pall S who among the following is
not among the earliest poets of Persian.

S yima gl afis R
ERTE

u.i.}.ajbed.m

2 W o

sl yous (S g
Options :
42558916872. 1
42558916873.2
42558916874. 3
42558916875. 4

Question Number : 56 Question Id : 4255894345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to French Orientalist E. Benveniste <52, swl &35 was among the earliest books written

during Achaemenian Period and composed in poetry. What was the language of this book?

Gugl gy 1
el gy 2
ssg iy 3
G L 4

Options :

42558916876. 1
42558916877.2
42558916878. 3
42558916879. 4

Question Number : 56 Question Id : 4255894345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to French Orientalist E. Benveniste <523l &2 53 was among the earliest books written

during Achaemenian Period and composed in poetry. What was the language of this book?

Gugl gy 1
el gy 2
ssg iy 3
G L 4

Options :

42558916876. 1
42558916877.2
42558916878. 3
42558916879. 4



Question Number : 57 Question Id : 4255894346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Among the following which one is not one of the volumes of U s!

2 ke g, |
Gy 2

U 3
Aluaig 4

Options :

42558916880. 1
42558916881. 2
42558916882. 3
42558916883. 4

Question Number : 57 Question Id : 4255894346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Among the following which one is not one of the volumes of Gl

3 e g, |
Gy 2

L 3
Aaaig 4

Options :

42558916880. 1
42558916881.2
42558916882. 3
42558916883. 4

Question Number : 58 Question Id : 4255894347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
o adle Hail e 48 A s g ey w8 Sl yam £

Which <=iaisused in the above copulate:

..11.3.:'}” ‘ﬁ%‘h.u N |

g,
i SOOI §Y

Options :

42558916884. 1
42558916885. 2
42558916886. 3
42558916887. 4



Question Number : 58 Question Id : 4255894347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
o adle Hail e 48 A s g ey w8 Sl yam £

Which <=iaisused in the above copulate:

e 4l ]
a2
a3

bl s 4

Options :

42558916884. 1
42558916885. 2
42558916886. 3
42558916887. 4

Question Number : 59 Question Id : 4255894348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The genre of poetry composed only in z 3 =
o.J..;.haE A
st 2
=k .3
4ald 4

Options :

42558916888. 1

42558916889. 2

42558916890. 3
42558916891. 4

Question Number : 59 Question Id : 4255894348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The genre of poetry composed only in z 3 =
.s.{.;...a‘e' N
e 2
=k .3
4l 4

Options :

42558916888 1

42558916889. 2

42558916890. 3
42558916891. 4



Question Number : 60 Question Id : 4255894349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
s gl v aa Scilal § 5 1) duw g4y 5 a S 3l !

Please identifythe ‘ y= * of above couplet.

dey .1
o .2
g 3
B 4

Options :

42558916892. 1
42558916893.2
42558916894. 3
42558916895. 4

Question Number : 60 Question Id : 4255894349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
L dis gle pe sa Scakal 5 5 1) due ps 4555 55 S 5l !

Please identifythe  »=* of above couplet.

dey .1
a2
g 3
B 4

Options :

42558916892. 1
42558916893. 2
42558916894. 3
42558916895. 4

Question Number : 61 Question Id : 4255894350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e abphon il jiten She om0 LBy 0 5l S |5 (s )
This couplet is related to:
sduad |
Jde 2
=) .3
4y 4

Options :

42558916896. 1
42558916897. 2
42558916898. 3
42558916899. 4



Question Number : 61 Question Id : 4255894350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

This couplet is related to:

siuad ||
d¥ 2
==k .3
4l je 4

Options :

42558916896. 1
42558916897. 2
42558916898. 3
42558916899. 4

Question Number : 62 Question Id : 4255894351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tean

Characteristics of the * duw =l

P t
O35 o= 2 ma

G085 ™ Oy s 2
O35 0% 5 aneie Cmbia 3 i 3
e 8l @ gligl y2 i 4

Options :

42558916900. 1
42558916901. 2
42558916902. 3
42558916903. 4

Question Number : 62 Question Id : 4255894351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

tean

Characteristics of the * tuww s

. I
0385 = 2 s ]

03830 Qs »S 2
(59 00 9 pasie Cmbia 3 jal 3
iy B A g0l 20 md 4

Options :

42558916900. 1
42558916901. 2
42558916902. 3
42558916903. 4



Question Number : 63 Question Id : 4255894352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The O)s of the following 4 yas
358 (e (o Gl yhalA B

i fiolia e gl 3
e Ohelic dielic Jpmie 3
cﬁ@sﬁukﬁb’@h Jeia 4

Options :

42558916904. 1
42558916905. 2
42558916906. 3
42558916907. 4

Question Number : 63 Question Id : 4255894352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The U)s of the following 4= yaa
35l e (o Ol plald )
el Jielie ¢Oleld (Jgmia ]

b e N e 9
e Ohelic dielic Jpmie 3
cﬁ@sﬁukﬁb’@h Jeia 4

Options :

42558916904. 1
42558916905. 2
42558916906. 3
42558916907 4

Question Number : 64 Question Id : 4255894353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(Al (5 e ¢ie was a court poet of
S 3OS 3 maaa |

o S 2
SHHE dgeaa 3

BET YD) s 4
Options :
42558916908. 1
42558916909. 2
42558916910. 3
42558916911. 4



Question Number : 64 Question Id : 4255894353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(Al (5 e gia was a court poet of

S5 58 3 e |
t_.n&ha‘g dema D
S a3
e g oeld 4

Options :

42558916908. 1

42558916909. 2

42558916910. 3
42558916911. 4

Question Number : 65 Question Id : 4255894354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

il e S flourished during which period.
s o f ALIGAREOE S
el OB DAL s g 2

aadl R Al Gatls 85 3

dis o F AlIGabod 4

Options :

42558916912. 1

42558916913. 2

42558916914.3
42558916915. 4

Question Number : 65 Question Id : 4255894354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Al e Saw flourished during which period.
ard 8 jalsl Ball )58 5 5|
el OB AL Lds o 8 5 2

a3l O f Al G g3 3

Aia () f Al Gaad 08 3 4

Options :

42558916912. 1

42558916913. 2

42558916914. 3
42558916915. 4



Question Number : 66 Question Id : 4255894355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who is known as the fouadl ]
_JLL\G N

iyl 2
= 3
Lis 4

Options :

42558916916. 1
42558916917. 2
42558916918. 3
42558916919. 4

Question Number : 66 Question Id : 4255894355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who is known as the Sl hul
)U:u.‘- N

s el 2
i~ 4
Options :
42558916916. 1
42558916917.2
42558916918. 3
42558916919. 4

Question Number : 67 Question Id : 4255894356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(> & Lesa the poet was born at:

(gial .1
R 2
Ol e 3
(sl 4

Options :

42558916920. 1
42558916921. 2
42558916922. 3
42558916923. 4



Question Number : 67 Question Id : 4255894356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(> & Lesa the poet was born at:

(gial .1
e 2
Qe 3
(sl 4

Options :

42558916920. 1
42558916921. 2
42558916922. 3
42558916923. 4

Question Number : 68 Question Id : 4255894357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Sl (A B g poet of Ghaznavid period was expert in which form of poetry:
de .1

w2
sinad 3
Hx 4

Options :

42558916924. 1

42558916925.2

42558916926. 3

42558916927. 4

Question Number : 68 Question Id : 4255894357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sl & 3 a poet of Ghaznavid period was expert in which form of poetry:

de .1
w2
siad 3
gy 4

Options :

42558916924. 1
42558916925. 2
42558916926. 3
42558916927. 4



Question Number : 69 Question Id : 4255894358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

aiul of Ghani Kashmiri was:

e gty ]

Al 2
e e 3

Options :

42558916928. 1
42558916929. 2
42558916930. 3
42558916931. 4

Question Number : 69 Question Id : 4255894358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

il of Ghani Kashmiri was:

e ]

Aulat 2
e e 3

Options :

42558916928. 1
42558916929. 2
42558916930. 3
42558916931. 4

Question Number : 70 Question Id : 4255894359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
s (l 5 egd wars:
S S g els
toses pls 2
aaie g el 3
sdill i g _FLL’E 4
Options :
42558916932. 1
42558916933. 2

42558916934. 3
42558916935. 4



Question Number : 70 Question Id : 4255894359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
s (l 5 egd wars:
S S g els
toses pls 2
aaie g el 3
salif gd g ell 4
Options :
42558916932. 1
42558916933. 2

42558916934. 3
42558916935. 4

Question Number : 71 Question Id : 4255894360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

)l U= JBle was known for his association with:

Ll e

e Ol o5 2
,;ia‘...nL...ﬂ (ST 3
doe Fiea 4

Options :

42558916936. 1
42558916937.2
42558916938. 3
42558916939. 4

Question Number : 71 Question Id : 4255894360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

<)l U= JBle was known for his association with:
Ll Ol

e Ol o5 L2
i Luadll 'y 3
o Yiea 4

Options :

42558916936. 1
42558916937. 2
42558916938. 3
42558916939. 4



Question Number : 72 Question Id : 4255894361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The book is written by Gulbadan Begum:

adiph
4l ) glas i)
adils 4

Options :

42558916940. 1
42558916941. 2
42558916942. 3
42558916943. 4

Question Number : 72 Question Id : 4255894361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The book is written by Gulbadan Begum:

adi gL
Ll Ggles 2
adi 8l 3
il 4

Options :

42558916940. 1
42558916941.2
42558916942. 3
42558916943. 4

Question Number : 73 Question Id : 4255894362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The second "l &0l SL" of the Mughal court :
gHlpide L
gl (g plal
S ad 3
s Al 4

[}

Options :

42558916944. 1
42558916945. 2
42558916946. 3
42558916947. 4



Question Number : 73 Question Id : 4255894362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The second "l &0l SL" of the Mughal court :

@l e L
gl (g plal
S b 3

s Al 4

[}

Options :

42558916944. 1
42558916945. 2
42558916946. 3
42558916947. 4

Question Number : 74 Question Id : 4255894363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The poetic style was in fashion during the 19™ century?

S ]
SIS 2
i Sew 3

e S 4

Options :

42558916948. 1
42558916949. 2
42558916950. 3
42558916951. 4

Question Number : 74 Question Id : 4255894363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The poetic style was in fashion during the 19™ century?

P
QIS S 2
el A Saw 3

Al Sw 4

Options :

42558916948. 1
42558916949. 2
42558916950. 3
42558916951. 4



Question Number : 75 Question Id : 4255894364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The first woman novelist among the following:

Dpaly Cpera ]

AR AEsR 2
(s=badic| (y g p 3
e (e 4

Options :

42558916952. 1
42558916953. 2
42558916954. 3
42558916955. 4

Question Number : 75 Question Id : 4255894364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The first woman novelist among the following:

o3l g ]

AR AE A 2
(eebaic| (pg 3
e (e 4

Options :

42558916952. 1
42558916953.2
42558916954. 3
42558916955. 4

Question Number : 76 Question Id : 4255894365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

== UY s was associated with:

d‘a .‘ Teeta ; I
afifa 2
ks 3
wnil o 4
Options :
42558916956. 1

42558916957.2
42558916958. 3
42558916959. 4



Question Number : 76 Question Id : 4255894365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

== UY s was associated with:

s ]
ila 2
oibki 3
wnil o 4

Options :

42558916956. 1
42558916957. 2
42558916958. 3
42558916959. 4

Question Number : 77 Question Id : 4255894366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

g U8 es &6 was written by great historian (i s Sl Use and this book primarily deals with

the period of:

Ja pia ]

Gsha delenl 2
ahaema gyl 3
gades 4

Options :

42558916960. 1
42558916961. 2
42558916962. 3
42558916963. 4

Question Number : 77 Question Id : 4255894366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

b I8 Cles Z ) was written by great historian i s> S U and this book primarily deals with

the period of:

O wds
siafolenl 2

b dea gl el 3
Jaded 4

Options :

42558916960. 1
42558916961.2
42558916962. 3
42558916963. 4



Question Number : 78 Question Id : 4255894367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
"Gl gl sl 2 S wbds Hu " is the title of:

el adllsdeaai ]

oY Jull gl 2
L'_JLé- a.{.;..a'é 3
ule Gua pal I 4

Options :

42558916964. 1
42558916965. 2
42558916966. 3
42558916967. 4

Question Number : 78 Question Id : 4255894367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
"G rhalgl gl Sabidas u " is the title of:

P PTR " Wv| FELN AU\ S

oY Judl gl 2
Qe sauad 3
gule Cpes il ).11'1 4

Options :

42558916964. 1
42558916965. 2
42558916966. 3
42558916967. 4

Question Number : 79 Question Id : 4255894368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
He is sitting there.

Which one of the following is the correct Persian Translation?
2 LT gl N
Saalil e lzﬁn.ﬁ 3

J_xm@ﬁ 51

B W b

sl 4183 el
Options :
42558916968. 1
42558916969. 2
42558916970. 3
42558916971. 4



Question Number : 79 Question Id : 4255894368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
He is sitting there.

Which one of the following is the correct Persian Translation?
2 LT gl N
Caall e Lail

J_xm@ﬁ 51

B W

sl 4183 el
Options :
42558916968. 1
42558916969. 2
42558916970. 3
42558916971. 4

Question Number : 80 Question Id : 4255894369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
s 4laal jlu &= has been compiled by :

il s des. ]

(el L= 2
@ule s e 3
g 4

Options :

42558916972 1
42558916973.2
42558916974. 3
42558916975. 4

Question Number : 80 Question Id : 4255894369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Ls 4laal jus» has been compiled by :
el ska il ]

L T 2
e e e 3
gy 4

Options :

42558916972. 1
42558916973. 2
42558916974. 3
42558916975. 4



Question Number : 81 Question Id : 4255894370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
_ll!.m]fn)..ﬂ):! GJJJE.:“.S B L.J1

In this sentence “48" denotes:

Conjunction .1
Preposition .2
Interrogative .3

=

Relative Pronoun
Options :
42558916976. 1
42558916977. 2
42558916978. 3
42558916979. 4

Question Number : 81 Question Id : 4255894370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
_ll!.m]fn)..ﬂ):! GJJJE.:“.S B L.J1

In this sentence “48" denotes:

Conjunction .1
Preposition .2
Interrogative .3

=

Relative Pronoun
Options :
42558916976. 1
42558916977. 2
42558916978. 3
42558916979. 4

Question Number : 82 Question Id : 4255894371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
“agread b gh | b 0 was written by Sadigq Chubak is the example of:
padly s
el

Maﬁfs

5 pedll 5 g

NSO TV

Options :

42558916980. 1
42558916981.2
42558916982. 3
42558916983. 4



Question Number : 82 Question Id : 4255894371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
“a g 00l 8 gk | ya b 3 was written by Sadiq Chubak is the example of:
adly gl ]
el
SIS s gl

5 paall 5 S

B oW

Options :

42558916980. 1
42558916981. 2
42558916982. 3
42558916983. 4

Question Number : 83 Question Id : 4255894372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

kL]

(e g3 R Novel was written by:

e plel
Culas gl 2
a3
clma Bl 4

Options :

42558916984. 1
42558916985.2
42558916986. 3
42558916987. 4

Question Number : 83 Question Id : 4255894372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ek 3

o g3 B Novel was written by:
e ple L
Culas Aalia
ol Jadl 3L

3
e

[}

Options :

42558916984. 1
42558916985. 2
42558916986. 3
42558916987. 4



Question Number : 84 Question Id : 4255894373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" i written by:

(ol i 1
a..ﬂ}]l.a‘; i)
Lg.ﬁl_'ii u“_ij‘g..‘l d geta 3

Options :

42558916988. 1
42558916989. 2
42558916990. 3
42558916991. 4

Question Number : 84 Question Id : 4255894373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR written by:

(ot Limi A
a..ﬂ_:;]l..;;. 2

el i gens 3
S das 4

Options :

42558916988. 1
42558916989. 2
42558916990. 3
42558916991. 4

Question Number : 85 Question Id : 4255894374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Vald 4y 6k was written by :

Culas Gabia 2
. w B
Fuos 3

SHfosud 4

Options :

42558916992. 1
42558916993. 2
42558916994. 3
42558916995. 4



Question Number : 85 Question Id : 4255894374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Vald 4y 6k was written by :

Culas Gabia a2
" w I
Fnuo=s 3

SHfosud 4

Options :

42558916992. 1
42558916993. 2
42558916994. 3
42558916995. 4

Question Number : 86 Question Id : 4255894375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"L 3 " Novel is the story of a:

gos .
sl 2
adnla 3
ous ghal 4

Options :

42558916996. 1
42558916997.2
42558916998. 3
42558916999. 4

Question Number : 86 Question Id : 4255894375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"lu 3 " Novel is the story of a:

cage
a};L..‘G 2
ainla 3
pusichial 4

Options :

42558916996. 1
42558916997. 2
42558916998. 3
42558916999. 4



Question Number : 87 Question Id : 4255894376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" pudie glay Slal” denotes:

Six i L]
aelde »3 2
@S odal 3
dije s 4

Options :

42558917000. 1
42558917001. 2
42558917002. 3
42558917003. 4

Question Number : 87 Question Id : 4255894376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" die glay Sl denotes:

Sis w1
aialle w5 2
ESsdal 3
alijle i 4

Options :

42558917000. 1
42558917001. 2
42558917002. 3
42558917003. 4

Question Number : 88 Question Id : 4255894377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
"I =l 5l 3« "is situated in Tabriz, the capital city of Azerbaijan province of Iran. Who among the

following is not buried there?

shle peld
Sliptls 2
sbed 3

:.53=-'§ B 4

Options :

42558917004. 1
42558917005. 2
42558917006. 3
42558917007. 4



Question Number : 88 Question Id : 4255894377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"I =l 5l 3« "is situated in Tabriz, the capital city of Azerbaijan province of Iran. Who among the

following is not buried there?

shle peld
Slepd a2
sbed 3
szaigtﬁﬁizﬁ 4

Options :

42558917004. 1
42558917005. 2
42558917006. 3
42558917007. 4

Question Number : 89 Question Id : 4255894378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

He was among the greatest scholars and scientists of Seljuk Era, and also composed poetry known for his

quatrains. His poetry has philosophical similarities with Epicurean philosophy.

i pali ]
L ol 2
phd = 3
e 4

Options :

42558917008. 1
42558917009. 2
42558917010. 3
42558917011. 4

Question Number : 89 Question Id : 4255894378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

He was among the greatest scholars and scientists of Seljuk Era, and also composed poetry known for his

quatrains. His poetry has philosophical similarities with Epicurean philosophy.

g yai ]
L gl 2
phd = 3
e 4

Options :

42558917008. 1
42558917009. 2
42558917010. 3
42558917011. 4



Question Number : 90 Question Id : 4255894379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The following is not a translator of (e plall gla Ju 0

Obl o
o Sl 2
adu deal g5 3

Meady 4

Options :

42558917012. 1
42558917013. 2
42558917014. 3
42558917015. 4

Question Number : 90 Question Id : 4255894379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The following is not a translator of (e yplall s Ju o

bl ope L
i S cwlyll 2
ala el 0 3

Yeaady 4

Options :

42558917012. 1
42558917013.2
42558917014. 3
42558917015. 4

Question Number : 91 Question Id : 4255894380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Mgadd i
A, Sl slaldi daa) il O i
B. Gl g jad Claghia 3 SO
C.  sddioagymday s o
D. ol jgiia jmd cla 4dgad 3

Choose the correct answer from the options given below :

1. A&B
2. B&C
3. C&D
4. B&D
Options :

42558917016. 1
42558917017.2
42558917018. 3
42558917019. 4



Question Number : 91 Question Id : 4255894380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Mgadd i
A, Sl slaldi daa) il O i
B. Gl g jad Claghia 3 SO
C. sadiadgpmday e
D. ol jgiia jmd cla 4dgad 3

Choose the correct answer from the options given below :

1. A&B
2. B&C
k €&D
4. B&D
Options :

42558917016. 1
42558917017.2
42558917018. 3
42558917019. 4

Question Number : 92 Question Id : 4255894381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

S g
A poadly )y
B by dia (la
C. Supddal
D. eyl
Choose the correct answer from the options given below:
1. B&D
2. C&D
3. A&B
4 D&A
Options :

42558917020. 1
42558917021.2
42558917022. 3
42558917023. 4



Question Number : 92 Question Id : 4255894381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ST
A e:ld-ﬂ‘-\,m
B Culah ddba (la
C. SKpddal
D, sl sl
Choose the correct answer from the options given below:
1. B&D
2 L&D
3. A&B
4 D&A
Options :

42558917020. 1
42558917021.2
42558917022. 3
42558917023. 4

Question Number : 93 Question Id : 4255894382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

gl alie Jay RIS 1) e
A Mddgal gl 0
B bdﬁ#‘Jadﬁjddﬁumﬂid
C. ap x5 palae
D. Mgl g e bl

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. C&D
4, B&D
Options :

42558917024. 1
42558917025.2
42558917026. 3
42558917027. 4



Question Number : 93 Question Id : 4255894382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ol ol Jan NS 1) e
Al M dga il gl 0
B ;.JJS?EUQMJL;.MISU.’MM
C. g Klga palra
D. gl s e slwd 0

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. C&D
4. B&D
Options :

42558917024. 1
42558917025.2
42558917026. 3
42558917027. 4

Question Number : 94 Question Id : 4255894383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I8 Al R g n U
358 Ala g g edalas p
A Gl g jad Bla oy
B.  sad suliind Guuiad 3 Sy O
C.  sdp S bh Cada gl
D, sad4ih £ sauad i o

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. C&D
4 A&C
Options :

42558917028. 1
42558917029. 2
42558917030. 3
42558917031. 4



Question Number : 94 Question Id : 4255894383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I8 Fla g p ) Ua
S5 (Ala 2 g edalan p
A Gl 3 dla oy
B.  ad sl el ) Sy & 0
C. s G ghh Cala gl
D,  sad4ih S sauad i o

Choose the correct answer from the options given below:

1. A&B
2. B&C
1. €&D
4. A&C
Options :

42558917028. 1
42558917029. 2
42558917030. 3
42558917031. 4

Question Number : 95 Question Id : 4255894384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AR
A Sdlagp pad
B.  oag 4y ol S ) agla
C. 4ol dia oy dpia gd
D. 2, o) O pana g Cuda g pdie ) ony

Choose the correct answer from the options given below:

1. A&B
2. B&C
3 C&D
4. A&D
Options :

42558917032. 1
42558917033.2
42558917034. 3
42558917035. 4



Question Number : 95 Question Id : 4255894384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AR
A Qg pady)
B.  sap el olslen) oG ) agle
C.  dddia s ols adia g
D. 2, o) O pana g Cuda g pdie ) ony

Choose the correct answer from the options given below:

1. A&B
2. B&C
k €&D
4 A&D
Options :

42558917032 1
42558917033.2
42558917034. 3
42558917035. 4

Question Number : 96 Question Id : 4255894385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A8 jau
A Ol QLS A 5 g
B, g (pab SO s M alal 5 plia
C.  sap ysad pal CailL
D. ol g8 jau Sag ) sl i o) Ja

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. C&D
4. A&C
Options :

42558917036. 1
42558917037.2
42558917038. 3
42558917039. 4



Question Number : 96 Question Id : 4255894385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A8
A Sl JLasall A 5 g
B. Gl g (pab SO s A alal s i
C.  sap el jal GA3L
D. Sl gl jau Sag sl i o) o

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. C&D
4. A&C
Options :

42558917036. 1
42558917037.2
42558917038. 3
42558917039. 4

Question Number : 97 Question Id : 4255894386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Ko at ) ) el Sl

A Col ol daliidilal ol o
B, oad 4SS aaadsi O 8 ) o) slgls 0
C. yglad e gaiflS Jailind cla g
D. iy L eSbat AMA Jlu 1 45 0 il
Choose the correct answer from the options given below:
ILA&B
2.B&C
3.B&D

4. A&D
Options :
42558917040. 1
42558917041. 2
42558917042. 3
42558917043. 4



Question Number : 97 Question Id : 4255894386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
S bt deald Cialas

A Cuah g dalidlad 0l
B.  sud4GAES A3 0 AN sl
C. gl cuas oSS Jaulind ol gl 0
D. Gy 2 i) AAA Jlw 3 g5 2 s Gl
Choose the correct answer from the options given below:
ILA&B
2B&C
3B&D

4 A&D

Options :

42558917040. 1
42558917041.2
42558917042. 3
42558917043. 4

Question Number : 98 Question Id : 4255894387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(Y
A, Gl g i gai AL
B.  agead g s poxaly
C. agpsldla; o B dlala thae )
D. g elas S g

Choose the correct answer from the options given below:

1. A&B
2. B&D
3. C&D
4. B&C
Options :

42558917044. 1
42558917045.2
42558917046. 3
42558917047. 4



Question Number : 98 Question Id : 4255894387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(Y
A, Gl i gl AL
B.  agead gy gds peaially
C. sgpeldla; o S dlala tha )
D. g elas S g

Choose the correct answer from the options given below:

1. A&B
2. B&D
3. C&D
4. B&C
Options :

42558917044. 1
42558917045.2
42558917046. 3
42558917047. 4

Question Number : 99 Question Id : 4255894388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Do B g 5 dall g
Al IS 458 dalily) Gl
B. M acle ) LS Gl dadalily)
C. 281 g )l mllal " il B8 4l jg
D. ol ladadalijy ) "l g it

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. A&C
4, B&D
Options :

42558917048. 1
42558917049. 2
42558917050. 3
42558917051. 4



Question Number : 99 Question Id : 4255894388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Do M g 5 dall g
Ay i S0 dalil ) ol
B. e il O ) L4 (il dum el
C. 281 e ) mlal " judl 318" 4allijg
D. Sl la3A 3 dalijg ) "l g & "

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. A&C
4. B&D
Options :

42558917048. 1
42558917049. 2
42558917050. 3
42558917051. 4

Question Number : 100 Question Id : 4255894389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

: oy L Sla
A, 3 e Ohe L Ly
B A g Oldial A ga o g8 )
C. a5 i dedus g pu Sl
D. a5 Kl slidy yalaa
Choose the correct answer from the options given below:
I. A&B
2. B&C
3. C&D
4. A&D
Options :

42558917052. 1
42558917053.2
42558917054. 3
42558917055. 4



Question Number : 100 Question Id : 4255894389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ey ol Sla
A5 e Cla 3 BLE Gl
Qg Oldial & ja 5 g8 )
A it il g ol
g pfilga sl palzs

Choose the correct answer from the options given below:

oSN wp

1. A&B
2. B&C
3. C&D
4 A&D
Options :

42558917052. 1
42558917053.2
42558917054. 3
42558917055. 4

Question Number : 101 Question Id : 4255894390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

-

L EPL LA
A, s e e e Gl dsn s s ) SC
B A Guals Y ol
C. 3 o Chiodaus i yu ol (Sl ayma s 300
D. 2 adedes G g ) efalle 38 )

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. A&C
4, C&D
Options :

42558917056. 1
42558917057.2
42558917058. 3
42558917059. 4



Question Number : 101 Question Id : 4255894390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

-

sd e bl
Al A5 e Joa ddadas Gl Al fbidia ) (S
B Al s @y 2l
C. 3 e Josdaw i judi jol (Dl dira o 200G
D. g ddede ) g ) pfalle o3850

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. A&C
4. C&D
Options :

42558917056. 1
42558917057.2
42558917058. 3
42558917059. 4

Question Number : 102 Question Id : 4255894391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1S e clale
A, b Y gl a8 g gl g A pd A 8
B. ap bpdidadsipsda
C. <R 8a g ycijh ) ol 4l ol ) e
D, 284 b)) aspdd) Goa gd B cald pu deal Fud

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. C&D
4 A&D
Options :

42558917060. 1
42558917061. 2
42558917062. 3
42558917063. 4



Question Number : 102 Question Id : 4255894391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1S e glale
A 3k Y g o83 g gl s sd B8
B. gy el el g G dla
C. i ,fla gy ) ol ) ol bt s
D. S8 a b)) pgddl Gam g i caid ju daal foud

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. C&D
4 A&D
Options :

42558917060. 1
42558917061. 2
42558917062. 3
42558917063. 4

Question Number : 103 Question Id : 4255894392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

S5 Gila el iy
) o Gy £ pa
5 g Dkt ol Sk 4

A
B
C.  sds Cmdsd sl o
D

Al g Al calgdiuta
Choose the correct answer from the options given below:
. C&B
2. D&A
3. A&B
4. D&C
Options :

42558917064. 1
42558917065. 2
42558917066. 3
42558917067. 4



Question Number : 103 Question Id : 4255894392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

545§l Lty by
i) o il Spa
5 g o ol Sk 3o

A

B

C.  oa5 O g oy o
D

ASd g A U el
Choose the correct answer from the options given below:
1. C&B
2. D&A
3. A&B
4. D&C
Options :

42558917064. 1
42558917065. 2
42558917066. 3
42558917067. 4

Question Number : 104 Question Id : 4255894393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B S S
A, kg gl 3 CALL Iy ) pd S )
B, ol S (pab g g s ol
C. 45 a5 28 Ol gl 5 il )
D. s Ease dhysal ye 0

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. C&D
4. B&D
Options :

42558917068. 1
42558917069. 2
42558917070. 3
42558917071. 4



Question Number : 104 Question Id : 4255894393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o 5 S
A, aadig g @ P CARL g ok S O
B, Gl o Gpad g g pal
C. 2 g JRgd 20 O jglaa § la )
D. s g dhysal ye 0

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. C&D
4. B&D
Options :

42558917068. 1
42558917069. 2
42558917070. 3
42558917071. 4

Question Number : 105 Question Id : 4255894394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

LQIJUJLAISJJQELAHH!Q%W
Lglsiiia ) g 39 3 gad Sl 3die 48
A, Sl B e S S Gl
B. osuddBf np gl ) Y 48 man
C. ol Glold (DIelE GBI S &) 09
D. o 4388 J 38 G O s 3 2 g e

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. C&D
4. B&D
Options :

42558917072. 1
42558917073.2
42558917074. 3
42558917075. 4



Question Number : 105 Question Id : 4255894394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Lt gh g luls o Bl Lgd L)
LgiSdia I8 5 09 2 gal el 3k 48
A, Gl il g s Sy Gl
B. suddidf np plicy ) Jy4e pan
C. Sl Glold BIeld (Dleld Sy 5 O
D. ol 4S8 J 3 S O s 3 2 g el

Choose the correct answer from the options given below:

1. A&B
2. B&C
3. C&D
4, B&D
Options :

42558917072. 1
42558917073.2
42558917074. 3
42558917075. 4

Question Number : 106 Question Id : 4255894395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Sl pala Chaa flae ) st Aosad J'Ilﬁ.l'l:\..g
Sl g st jual g h,.;ll:‘.i
338 s 3um apd pal g pallil g8 AN o) g pd Jo

SN wp

Cuaah g sk o) s 5ia 1 gk g Cpp il

Coaah 239 o (s e Sl 6 g 2 o0 (A0

Choose the correct answer from the options given below:
. A,B&COnly

2. B,C & D Only

3. C,D&EOnly

4. A,B & D Only

Options :

42558917076. 1
42558917077. 2
42558917078. 3
42558917079. 4



Question Number : 106 Question Id : 4255894395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

[Sa¥OY) u.AL-.L d.n;j'ldgﬁ U-'»"'J”" doszad, J'I.lﬁ.l‘l:\..e

Coaad g s il g calli

338 5 3um apd pal g palll g8 AN o) g pd Jo
Sl g s ol o e " g pud g G !

monNw P

Coaah 239 o (s e Sl 6 g 2 o0 (A0

Choose the correct answer from the options given below:
. A,B&COnly

2. B,C & D Only

3. C.D&EOnly

4. A,B & D Only

Options :

42558917076. 1
42558917077. 2
42558917078. 3
42558917079. 4

Question Number : 107 Question Id : 4255894396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Lo o
ol g i TV e gl QY g Sy
iy o g5 ) 8 0
A5 6 H P daaa Lo Al g

23 e e

50k O 5 AL a3 g b 4 ddal g
Cudd el s pilla
Choose the correct answer from the options given below:
I. A,B&C Only
2. A,D&E Only
3 B, C & E Only
4. B,D&E Only

Options :

42558917080. 1
42558917081. 2
42558917082. 3
42558917083. 4



Question Number : 107 Question Id : 4255894396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Lo e s
Sl gy PV e gl QY g Sy
Sl A 5 O s 0
A5 ¢ $ P dana L i o dlid g
5ok ) g AL A g e g A
Sl e s plia

H e ae e

Choose the correct answer from the options given below:
1. A,B&COnly

A, D & E Only

B, C & E Only

4. B,D&E Only

w9

Options :

42558917080. 1
42558917081.2
42558917082. 3
42558917083. 4

Question Number : 108 Question Id : 4255894397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
o 3 dali 5L
A0 uda g G e il
S O 5 A Gy
A0 NG Agta gy Ol
31 il 81 ) gl
A daaba ) ) e Sl

= 0 E g

Choose the correct answer from the options given below :
I. A /B&COnly
2. B,D &EOnly
3. A, C&DOnly
4. C,D &E Only

Options :

42558917084. 1
42558917085. 2
42558917086. 3
42558917087. 4



Question Number : 108 Question Id : 4255894397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
o g 8 dall sl
Q04 s Saka g O e Ol
A8 a5 A Gl
A 0a g dada g Sl
31 il 81 ) gl
A daaba ) ) e Sl

2> e

Choose the correct answer from the options given below :
I. A /B&COnly
2. B,D &EOnly
3. A, C&DOnly
4. C,D &E Only

Options :

42558917084. 1
42558917085. 2
42558917086. 3
42558917087. 4

Question Number : 109 Question Id : 4255894398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

LTS
A Gl "G QR g Guall Juladl dall
B. g e 30 02
C. 25 o sl dall gl o AL pudi o
D. a5 sl allia fL2
E. aalgpdgdde

Choose the correct answer from the options given below:
I. A&EOnly

2. B &COnly

3. A,C&EQOnly

4. B,C&DOnly
Options :
42558917088. 1
42558917089. 2
42558917090. 3
42558917091. 4



Question Number : 109 Question Id : 4255894398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

PR EN
A ol "y OB gyl Jall el
B. a5 e S 03
C. a5 ¢ saf5ali g s SLE i o
D. a5 sl el Sl
E. 2 lhalpdgddl

Choose the correct answer from the options given below:
I. A&EOnly

2. B &COnly

3. A,C&EQOnly

4. B,C&DOnly

Options :

42558917088. 1
42558917089. 2
42558917090. 3
42558917091. 4

Question Number : 110 Question Id : 4255894399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a0 uﬁ.ﬁi A8 Jea g g glas
Ly i JA e s S

A S JL e S )

B, Cawdilalama Gy #

C. 4 alal Gada s Gl

D. Gl onsal i 20 WL Sy

B Sl Qe Jla Cn

Choose the correct answer from the options given below:

I. B&DOnly

2. B,D &EOnly

3. C&E Only
4. A, C&E Only
Options :

42558917092. 1
42558917093. 2
42558917094. 3
42558917095. 4



Question Number : 110 Question Id : 4255894399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

308 AN A8 da g g £193
bk SR Mas p )R

A, ol JL Je S

B. Quiicalagaandd »

C. 4 alal Gada s Gl

D. Gl stuald QM WL Sy

E Gl e dn o

Choose the correct answer from the options given below:

I. B&DOnly

2. B.,D &EOnly

3. C&E Only
4. A, C&E Only
Options :

42558917092. 1
42558917093. 2
42558917094. 3
42558917095. 4

Question Number : 111 Question Id : 4255894400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
5 g8l ) ha
A ol "L A oy
B. Sl g A" dall Slga sl "
C. Gl Slgaoldi pus
D 25 A culat Ly
E. Sy S ph G pd) pana
Choose the correct answer from the options given below:
I. A,C&DOnly
2. B,D &EOnly
3. A,C&DOnly

4. A, C&EOnly
Options :

42558917096. 1
42558917097.2
42558917098. 3
42558917099. 4



Question Number : 111 Question Id : 4255894400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
5 g8l ) ha
A ol " ) AT bl 53
B. Sl g A" dall Slga sl "
C. il g old pusy
D. g Aoscidlslid
E. Sy 3 od G pd) pana
Choose the correct answer from the options given below:
I. A,C&DOnly
2. B,D &EOnly
3. A,C&DOnly

4. A, C&EOnly

Options :

42558917096. 1
42558917097.2
42558917098. 3
42558917099. 4

Question Number : 112 Question Id : 4255894401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ol S b
sd g Gira S0 il LG (e 3 lasan ) e
A8 Ogda ty M L) B0 M ale (e pual 0
g ol b ad QIS ) e
3 ol LIS, & g8 5" pm " (B s1gin i 0 1 3 S
A A g s S B 0 gl b Glagl la) 0
Choose the correct answer from the options given below:
I. A &BOnly
2. B &DOnly
3. A,B&COnly
4. C,D&EOnly

= o

Options :

42558917100. 1
42558917101. 2
42558917102. 3
42558917103. 4



Question Number : 112 Question Id : 4255894401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ol S b
sag (a8 Gl BLE Ja ) lasan )80 o
QA Gy M ) B B e G pual K0
25 i KO8 B b S ) e
3 ol LIS, & g8 5" pm " (B s1gin i 0 1 3 S
A A g s S B 0 gl b Glagl la) 0
Choose the correct answer from the options given below:
I. A&BOnly
2. B &DOnly
3. A,B&COnly
4. C,D&EOnly

s =

Options :

42558917100. 1
42558917101. 2
42558917102. 3
42558917103. 4

Question Number : 113 Question Id : 4255894402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
p B A 3 s A8 Ol 4lia ) 0 5 9 g (G
A, A8 ) B 0 g gl Add G sl S0 deal il K
B. A8 QRIS ¢ jaw Duia ) g g s Gia iS4
C. dadadth s sl )ty U maal dad U0 S
D. g oulid ClS gSiia N jad 3 gasa Baila
E. g 4dh slaia 0 el Gl S agaell e LS8
Choose the correct answer from the options given below:
I. A&BOnly
2. B &COnly
3. A,C&EOnly

4. A ,C&DOnly
Options :
42558917104. 1
42558917105.2
42558917106. 3
42558917107. 4



Question Number : 113 Question Id : 4255894402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ro B A o o B St daa ) 3 6 05 g (Bl
A, A msal ) Bia O g gld Al O S andd ) S0 daal K0
B. 8BS (¢ o G ) g (5 S i IS
C. Hagadlh s ol ) o U6 puaual dia ) 5 i3
D 35 Qi S ga A o ganna Jails
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Choose the correct answer from the options given below:
I. A &BOnly
2. B&COnly
3. A,C&EOnly

4. A C&DOnly

Options :

42558917104. 1
42558917105.2
42558917106. 3
42558917107. 4

Question Number : 114 Question Id : 4255894403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
S Sl ddgaj 0
Lo Blowan Jh ¢ g3 Qo
dda g ML ¢ o
Joaa By 5 2 0l el QO s Bl e
coudid O ) ¢ e Pla
S a3 ¢ L Ousaa
Choose the correct answer from the options given below:
I. B,D & E Only
B, E & C Only
3. A, C&EOnly

4. C,A&DOnly

= 0 E g

]

Options :

42558917108. 1
42558917109. 2
42558917110. 3
42558917111. 4



Question Number : 114 Question Id : 4255894403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
i Sl 4y 0
Lasi Uil 5 ¢ 53 Qo
da g L ¢ Hlaudid o
palza o 5 0 O ) el O ) s ¢ (Bla) dasa

‘_,.mm S "u:‘:‘:""f.b‘?

2> e

S a3 ¢ L Ousaa

Choose the correct answer from the options given below:
I. B,D & E Only

B, E & C Only

3. A, C&EQOnly

4. C,A&DOnly

]

Options :

42558917108. 1
42558917109. 2
42558917110. 3
42558917111. 4

Question Number : 115 Question Id : 4255894404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Al i ddsa 0
A, LAl eld @il
B. e pdh Aol ula,
C. ol da Culguwa g1 paE o o she Sl
D. (ol Sou g
E P R UENA v PRy ) PO 5 QT 9 K R R T
Choose the correct answer from the options given below:
I. A,B&DOnly
2. D,A &E Only
3. A,D&COnly

4. B,C&EOnly
Options :
42558917112. 1
42558917113. 2
42558917114. 3
42558917115. 4



Question Number : 115 Question Id : 4255894404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
i pdiddia)
A LA pla il
B.  wwepdh_dalpla
C. ol dp Culgwa g e 7o) g sie (Sl
D,  (ewbid Sou - g
E A i U Gl P lawd i o) el g &S
Choose the correct answer from the options given below:
I. A,B&DOnly
2. D,A&EOnly
3. A,D&COnly

4. B,C&EOnly

Options :

42558917112. 1
42558917113.2
42558917114. 3
42558917115. 4

Question Number : 116 Question Id : 4255894405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(S 4 ) Alaj Blal ) G i
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ﬂ‘qﬁ@undduugﬁnbmmcgﬁy

=0 -

Choose the most appropriate answer from the options given below:
A & B Only
2, B & C Only
3. A & C Only
4. C & D Only

Options :

42558917116. 1
42558917117.2
42558917118. 3
42558917119. 4



Question Number : 116 Question Id : 4255894405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(S 4 ) Alaj Blal ) G i
Fas saga g Al (o)t ila
el B (s (Al 0
i e U ga o A pudi g gasa o Lk LY 5a

ﬂ‘qﬁ@undduugﬁnbmmcgﬁy
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Choose the most appropriate answer from the options given below:
A & B Only
2, B & C Only
3. A & C Only
4. C & D Only

Options :

42558917116. 1
42558917117.2
42558917118. 3
42558917119. 4

Question Number : 117 Question Id : 4255894406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

!jidiat

AL oad GBS Cldags (a0
B. g uslisl ol G Qe US G ol ol
C. o aldi g Sl Soal) lad oLlis 4y
D.  sad g Saie (hala 3o el
Choose the most appropriate answer from the options given below:
I. A &BOnly
2. B &COnly
3. C&DOnly

4. B &D Only
Options :
42558917120. 1
42558917121.2
42558917122. 3
42558917123. 4



Question Number : 117 Question Id : 4255894406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Al g

A e S ke a0

B. s gl ol Oy G QS (gl sl ¢

C. ol dld gl Sl () e (oLl 4y

D.  sad 3 3lale lals yge cladl g

Choose the most appropriate answer from the options given below:
I. A &BDOnly

2. B &COnly

3. C&DOnly

4. B &D Only
Options :
42558917120. 1
42558917121.2
42558917122.3
42558917123. 4

Question Number : 118 Question Id : 4255894407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ly pRiga
A, Sgdaa jlaa g puad
B.  dgedleng gelddy
C. Cuwloadididig S5 ch)d " s pfdea 58"
D. Gy " iy S5
95 Ol )3 Ol psad

Choose the most appropriate answer from the options given below:
1. B,D&EOnly
2. A, C&DOnly
3. B,C&EOnly
4. C,D&E Only

Options :

42558917124. 1
42558917125. 2
42558917126. 3
42558917127. 4



Question Number : 118 Question Id : 4255894407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

iy pfige
A, asdaa Jlaa o) puad
B. agedasl gelddy
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D. g B R4 S35
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Choose the most appropriate answer from the options given below:
1. B,D&EOnly
2. A, C&DOnly
3. B,C&EOnly
4. C,D&E Only

Options :

42558917124. 1
42558917125. 2
42558917126. 3
42558917127. 4

Question Number : 119 Question Id : 4255894408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A slgday
A, ibla g 3de ouse T
B. lacgjles daaa
C.  lafad sl g pdll Kl
D. @) waeal Ji Dla
E. 2l s nd

Choose the most appropriate answer from the options given below:
I. A, C&EQOnly
2. B,D&COnly
3. C,B&AQOnly

4. D,A&COnly

Options :

42558917128. 1
42558917129. 2
42558917130. 3
42558917131. 4



Question Number : 119 Question Id : 4255894408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AR sy
A, ol g 3 o sa fd
B. lLaigjlea daaa
C.  ladad sujd g il K2
D. @)l i Dla
E.  aj0sisinisd

Choose the most appropriate answer from the options given below:
I. A, C&EOnly
2. B.D&COnly
3. C,B&AQOnly

4. D,A&COnly

Options :

42558917128. 1
42558917129.2
42558917130. 3
42558917131.4

Question Number : 120 Question Id : 4255894409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Sladal elgilay
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i (S 2 (ua

mo 0wy

Choose the most appropriate answer from the options given below:
I. A,B&DOnly
2. A, C&EOnly
3. C,D&EOnly

4. E,D & A Only

Options :

42558917132. 1
42558917133.2
42558917134. 3
42558917135. 4



Question Number : 120 Question Id : 4255894409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Choose the most appropriate answer from the options given below:
. A,B&DOnly
2. A,C&EQOnly
3. C,D&EOnly

4. E,D & A Only

Options :

42558917132. 1
42558917133.2
42558917134.3
42558917135. 4

Question Number : 121 Question Id : 4255894410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
palza Sl S
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Choose the most appropriate answer from the options given below:
1. B.D&EOnly

2. C,A&BOnly

3. B &DOnly

4. D.,B & C Only

Options :

42558917136. 1
42558917137. 2
42558917138. 3
42558917139. 4



Question Number : 121 Question Id : 4255894410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Choose the most appropriate answer from the options given below:
1. B.D&EOnly

2. C,A&BOnly

3. B &DOnly

4. D,B&COnly

Options :

42558917136. 1
42558917137.2
42558917138.3
42558917139. 4

Question Number : 122 Question Id : 4255894411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
i

A S) &) s Flga Jla
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D. ok Al g3 el 3
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Choose the most appropriate answer from the options given below:
. A,C&D Only

2. B,C&D Only

3. B,D&E Only

4. A, C& EOnly

Options :

42558917140. 1
42558917141.2
42558917142. 3
42558917143. 4



Question Number : 122 Question Id : 4255894411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i
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Choose the most appropriate answer from the options given below:
. A,C&D Only

2. B,C&D Only

3. B,D&E Only

4. A,C& EOnly

Options :

42558917140. 1
42558917141.2
42558917142. 3
42558917143. 4

Question Number : 123 Question Id : 4255894412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Choose the most appropriate answer from the options given below:
I. A&B Only

2. B&C Only

3. C& D Only

4. D& E Only

Options :

42558917144. 1
42558917145. 2
42558917146. 3
42558917147. 4



Question Number : 123 Question Id : 4255894412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Adss Ol sl pualaa

BLAL 3 1 o O ol S

C.agy QUAIA o ja gy Adusil 9

D. g pd "Mhali sld" ) gl o gia o

E.a5 2iS U Ja)

Choose the most appropriate answer from the options given below:
I. A&B Only

2. B&C Only

3. C& D Only

4. D & E Only

Options :

42558917144. 1
42558917145.2
42558917146. 3
42558917147. 4

Question Number : 124 Question Id : 4255894413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Choose the most appropriate answer from the options given below:
I. A&B Only
2. B&C Only
3. B,C&E Only

4. A, C&DOnly
Options :

42558917148. 1
42558917149.2
42558917150. 3
42558917151. 4



Question Number : 124 Question Id : 4255894413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Choose the most appropriate answer from the options given below:
I. A&B Only

2. B&C Only

3. B,C&E Only

4. A, C&DOnly

Options :

42558917148. 1
42558917149.2
42558917150. 3
42558917151. 4

Question Number : 125 Question Id : 4255894414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
B gl
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Choose the correct answer from the options given below:

. A&B Only

2. C&D Only

3. D&E Only

4. A & COnly

Options :

42558917152. 1
42558917153. 2
42558917154. 3
42558917155. 4



Question Number : 125 Question Id : 4255894414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
B gl
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E. G G e 43 4 9
Choose the correct answer from the options given below:
1. A&B Only
2. C&D Only
3. D&E Only
4. A & COnly

Options :

42558917152. 1
42558917153. 2
42558917154. 3
42558917155. 4

Question Number : 126 Question Id : 4255894415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List 11

List I List I1

A, 88 d5wa I daliLi
B. Olalw s d g | [L 2Ly
C. O &l 111, Ages

D. il ol dma gl | [V, Cladad

Choose the correct answer from the options given below:
1. A-II, B-1V, C-II, D-1
2.  A-1,B-1V,C-II, D-II
3. A-1V,B-II C-1, D-II
4. A-1 B-II1, C-1V, D-II

Options :

42558917156. 1
42558917157.2
42558917158. 3
42558917159. 4



Question Number : 126 Question Id : 4255894415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List I1

List I List 11

AL €84 Qs I dalinli
B. Olale dw dgaa | [IL oLy
C. Oman O I, A

D. pad s dma 5 | [V, Clakad

Choose the correct answer from the options given below:
1. A-II B-1V, C-II, D-1
2. A-1,B-1V,C-1I, D-1I
3.  A-1V,B-II, C-I, D-lIl
4.  A-1, B-1IL, C-IV, D-l1

Options :

42558917156. 1
42558917157. 2
42558917158. 3
42558917159. 4

Question Number : 127 Question Id : 4255894416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List II

List I List II
A. oy allaia [ ¢ fa
B. (B da Jgl IL c$F
C. Ak agd 1. 4l
D. (Aaals s g sia | IV, Al

Choose the correct answer from the options given below:
1. A-1, B-IIL, C-1V, D-II
2. A-II, B-1V, C-I1, D-1
3. A-l B-1, C-1V, D-1I
4.  A-1V, B-11, C-II, D-I

Options :

42558917160. 1
42558917161. 2
42558917162. 3
42558917163. 4



Question Number : 127 Question Id : 4255894416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List I1

List I List IT
A. s d alhia I ¢ ia
B. Bk jy 1L 58
C. Ab ugd Il 4l
D. Aliald ¢ g e IV. Alabu

Choose the correct answer from the options given below:
1. A-1, B-IIL, C-1V, D-II
2. A-IL B-1V, C-I1, D-1
3. AL B-1, C-1V, D-11
4.  A-1V, B-1I, C-111, D-1

Options :

42558917160. 1
42558917161.2
42558917162. 3
42558917163. 4

Question Number : 128 Question Id : 4255894417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT
List I List I1
ALy I. a3330 ba3E550

B. odalad 5 IL Ay
C. sk b O | 111 458
D. Al sl IV, a1 013

Choose the correct answer from the options given below:
1. A-II, B-1V, C-1I, D-I
2. A-L B-L C-1V, D-1I
3.  A-IL B-L, C-IIL, D-1V
4. A-1V,B-IL C-IIL D-1
Options :
42558917164. 1
42558917165. 2

42558917166. 3
42558917167. 4



Question Number : 128 Question Id : 4255894417 Question Type

: MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Match List I with List 11
List I List I1
A Gy L »3330 Gaa550
B. odualah 5 5 L Ay
C. sk b O | 111 458

D. Aleba slaly

IV, e o & 05

Choose the correct answer from the options given below:

1.
2,
i
4.

A-1I1, B-1V, C-11, D-1
A-III, B-1, C-1V, D-1
A-11, B-1, C-111, D-1V
A-1V, B-11, C-III, D-1

Options :

42558917164. 1
42558917165.2
42558917166. 3
42558917167. 4

Question Number : 129 Question Id : 4255894418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List 11

List 1 List I
A. 55 sl L Cpdld 8
B. Lig¥ s S | RS BYY
C. Ol g [L ) (uads
D. A aldd IV, & Dla

Choose the correct answer from the options given below:

1.
2
3.
4.

A-1V, B-1, C-11, D-1II
A-1, B-II1, C-1V, D-I
A-1L, B-1V, C-111, D-1
A-1V, B-11, C-1, D-1II

Options :

42558917168. 1
42558917169. 2
42558917170. 3
42558917171. 4



Question Number : 129 Question Id : 4255894418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List 11

List I List I1
A. s $aa s slia L Cpdd 3 8
B. Lig¥ s S 1L Oty
C. g IIL Gl uadds
D. Aée a1V, &l Dla

Choose the correct answer from the options given below:
. A-IV,B-1, C-1I, D-1lT
2. A1, B-lL C-1V,D-I1
3.  A-IL, B-1V, C-II, D-I

4. A-1V, B-11, C-1, D-11I
Options :
42558917168. 1
42558917169. 2
42558917170. 3
42558917171. 4

Question Number : 130 Question Id : 4255894419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List Il
List 1 List 11
A, e dseaal | M
B. oldi s L ol
C. 24 M. ¢pals
D. VAL Gaaa | TV, ol itk

Choose the correct answer from the options given below:
1.  A-lI B-1V, C-1I, D-I
2. AL B-1, C-1V, D-II
3.  A-1B-IL C-1V, D-1I
4. A-lIl, B-1V, C-1, D-II

Options :

42558917172. 1
42558917173. 2
42558917174. 3
42558917175. 4



Question Number : 130 Question Id : 4255894419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List 11

List I List I1
A. s3F dgaaal [ ¢
B. LS | EPPEN
C. 24 M. ¢pals
D. VAL Gaaa | TV, ol itk

Choose the correct answer from the options given below:
1. A-lI B-1V, C-1I, D-I
2. A-IL B-1, C-1V, D-II
3.  A-1 B C-1V, D-1I1
4. A-lIl, B-1V, C-1, D-II

Options :

42558917172. 1
42558917173. 2
42558917174. 3
42558917175. 4

Question Number : 131 Question Id : 4255894420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List 11
List I List II
A. dlalia I gmd pald
B. 4lhs jg2 L oo jam g paldid
C. deald Coualpus [ ¢ ball & 3o
D. e iy V. o sh Slal) U

Choose the correct answer from the options given below:
1. A-IV,B-1I, C-1, D-1I
2. A-IL B-L C-1V, D-II
3.  A-I B-1V, C-I1, D-1
4. A-IL B-1I, C-1V, D-1
Options :
42558917176. 1
42558917177.2

42558917178. 3
42558917179. 4



Question Number : 131 Question Id : 4255894420 Question Type
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

: MCQ Option Shuffling : No Display Question Number : Yes Is

Match List I with List IT
List 1 List II
A. Slalia L sms pali
B. llia g L o e g p pallil
C. 4ali Coulsus [ ¢ el ) 2o
D. x el IV, o g Slal) oIS

Choose the correct answer from the options given below:

1. A-1IV, B-III, C-1, D-II

2.  A-1L B-I, C-1V, D-1II

3. A-IL B-1V, C-III, D-I

4. A-IIL B-11, C-1V, D-1
Options :

42558917176. 1
42558917177.2
42558917178. 3
42558917179. 4

Question Number : 132 Question Id : 4255894421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT
List I List I1
A, e g L Osbed s yia
B. s Oua L o i
C. 8 I1 S s
D. skt IV, <l

Choose the correct answer from the options given below:

. A-1V, B-I, C-II, D-I

2. A-1, B-II, C-III, D-1V

3. A-I1, B-I11, C-1V, D-1

4. A-1V, B-II, C-1, D-III
Options :

42558917180. 1
42558917181.2
42558917182.3
42558917183. 4



Question Number : 132 Question Id : 4255894421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT
List I List I1
A, ould e g L Osled 5 e
B. ¢ O | RV
C. I 4 s
D. »55d 1l V. & Ay

Choose the correct answer from the options given below:

1. A-1V, B-1I, C-II, D-1

2. A-1, B-1I, C-1II, D-1IV

3.  A-IL B-III, C-1V, D-1

4. A-1V, B-II, C-1, D-III
Options :

42558917180. 1
42558917181.2
42558917182.3
42558917183. 4

Question Number : 133 Question Id : 4255894422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List Il

List I List II
A Ol Sl Slia | JalS
B. (Blelh o adl (ua IL g e
C. N gl 3l elia 1 z58 =
D. Ofelita lelita IV, &

Choose the correct answer from the options given below:

1. A-1V,B-II, C-I, D-III

. A-1I1, B-1V, C-I11, D-I

3. A-lL B-l, C-lIII, D-1V

4. A-IIL B-1V, C-11, D-1
Options :

42558917184. 1
42558917185.2
42558917186. 3
42558917187. 4



Question Number : 133 Question Id : 4255894422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List 11

List I List 11
A. Ol Sl Gl slia L Jal8
B. OBleld o adl ua IL g e o

C. N gl 3l elia 1 z58 =
D. Oelila glelita IV, diaa

Choose the correct answer from the options given below:
1.  A-1V, B-II, C-1, D-1II
2. A-Il, B-1V, C-111, D-1
3. A-L B-IL C-IIL D-1V

4. A-IIL B-1V, C-11, D-1
Options :
42558917184. 1
42558917185.2
42558917186. 3
42558917187. 4

Question Number : 134 Question Id : 4255894423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List 11
List I List 11
A, GEAS Guw saan LA 5 SIA ) 8 L osad
L )R dea Al od A Lgndigy Lgnds da
B. Gl m A4 Jga 480k e g 4 I Jaey 48l
B K54S 3 ja 43 Ol g udi 5
C. waflBaiublp s Slea &)y TI1. s
D.  Olawd g (pa) )y G old S ) IV. fali

Choose the correct answer from the options given below:
1. A-LB-IV, C-1II, D-II
2. A-I, B-IIL, C-1, D-1V
3. A-ILB-1V,C-1 D-III
4. A-1V,B-1, C-11, D-1I
Options :
42558917188. 1
42558917189. 2

42558917190. 3
42558917191. 4



Question Number : 134 Question Id : 4255894423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT
List 1 List I1
A, LB Juw sed Lgidia g SLa )28 L ol
L )R dea Al od 4 Lgadigy Lgiids da
B. Gl m A4 Jga 480k e g 4 I Jaey 48l
B oS0 oL AS 3 e A O gpad
C. waflBaiublp s Slea &)y TI1. s
D. Ol g &pa)ajyl O sl Cund ) IV. Gl

Choose the correct answer from the options given below:
1. A-L B-1V, C-1II, D-II
2. A-IL B-IIL C-1, D-IV
3. A-II,B-1V,C-1, D-1II

4.  A-1V, B-1, C-11, D-III
Options :
42558917188. 1
42558917189.2
42558917190. 3
42558917191. 4

Question Number : 135 Question Id : 4255894424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT
List I List IT
A, o3 Jlea L §
B. Jlad av I §Ese p
C. by Lo IIL (qo 55 4aligg
D. ¢las) daal IV, sl liuda

Choose the correct answer from the options given below:
1. A-1V,B-lIII, C-1, D-II
2. A, B-1, C-1V, D-1
3.  A-I B-1V, C-I1, D-1
4. A-1, B-1I, C-IV, D-IIl
Options :
42558917192. 1
42558917193. 2

42558917194. 3
42558917195. 4



Question Number : 135 Question Id : 4255894424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT
List I List IT
A, o) dlea I § g
B. Juadi asusd Il #Ese pd
C. mdp Lol IIL (g 85 4aligg
D. deal daal IV, 8l i

Choose the correct answer from the options given below:
1. A-1V, B-lI, C-I, D-I
2. A-l B-1, C-1V, D-1I
3. A-IL, B-1V, C-11, D-1

4. A-1, B-II, C-1V, D-III
Options :
42558917192. 1
42558917193.2
42558917194. 3
42558917195. 4

Question Number : 136 Question Id : 4255894425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List 11
List 1 List 11
Al digliza 5 ash | plthddiu
B. W 4luar 11, i
C. el Qlpaagana | 1L g ok Ghs g
D. g IV. 2 a4 daal

Choose the correct answer from the options given below:
1.  A-LB-IIL C-1IV, D-TI
A-1L, B-1V, C-111, D-1
A-III, B-1V, C-11, D-1
4. A-1V, B-1II, C-IL D-1

Options :

42558917196. 1
42558917197. 2
42558917198. 3
42558917199. 4

(S5 T |



Question Number : 136 Question Id : 4255894425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT
List 1 List 11
Al il glina g agh | ] b ddida
B. b 4luat 1L i
C. el Qlpaagana | 1L g ok Ghs g
D. g IV. 2 a4 daal

Choose the correct answer from the options given below:
1. A-L B-IIL C-IV, D-TI
A-I1, B-1V, C-I11, D-1
A-III, B-1V, C-I1, D-1
4. A-1V, B-1II, C-IL D-1

Options :

42558917196. 1
42558917197. 2
42558917198. 3
42558917199. 4

W b2

Question Number : 137 Question Id : 4255894426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List 11

List I List I1
A Sdaas | adh oS
B. oA Es A 11 Al
C. o slad I1. (pda 335
D. abai®) Gy | [V, bl S

Choose the correct answer from the options given below:
1. A-l B, C-1II, D-1V
2. A-1V, B-III, C-11, D-1
3.  A-I, B-1V, C-I, D-III

4.  A-II, B-1, C-II, D-1V

Options :

42558917200. 1
42558917201. 2
42558917202. 3
42558917203. 4



Question Number : 137 Question Id : 4255894426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List 11

List I List IT
A, g olidaaa | [ adh oS
B.ojsiEsd |11 4k
C. e plad [ (ods 338 i
D. Abaie) (g p | IV, ool S

Choose the correct answer from the options given below:
1. A-I B-II, C-III, D-IV
2. A-1V,B-lI, C-11, D-1
3. A-Il, B-1V,C-1, D-II

4. A-IL B-1, C-1I, D-1V
Options :
42558917200. 1
42558917201.2
42558917202. 3
42558917203. 4

Question Number : 138 Question Id : 4255894427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List I1
List I List II
A. bl I o 5i 4llia
B. piia Ouis IL oual K58 5 Ola e
C. o 4 T11. Vgl dia g
D. sl J Pla IV. Ja s jua

Choose the correct answer from the options given below:
1. A-1V, B-lII, C-II, D-1
A-III, B-11, C-1V, D-1
A-III, B-1I, C-1, D-1V
4.  A-1L B-IV, C-1I, D-1

Options :

42558917204. 1
42558917205. 2
42558917206. 3
42558917207. 4

(VST ]



Question Number : 138 Question Id : 4255894427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List I1
List I List IT
A, s kel I. (oo 58 4llia
B. palla e IL saal 08 J A jiaa
C. o 4 T11. Vgl g
D. el J Bl IV. Jaojha

Choose the correct answer from the options given below:
1. A-1V, B-lII, C-II, D-1
A-III, B-11, C-1V, D-1
A-III, B-11, C-1, D-1V
4.  A-1L, B-IV, C-l1I, D-1

(ST ]

Options :

42558917204. 1
42558917205. 2
42558917206. 3
42558917207. 4

Question Number : 139 Question Id : 4255894428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List 11
List I List 11
A, Sqg, Gda [ g
B. & giba IL Aghal bl 2l
C. 4 30 Jara [ 2020 b b (S 6 J0
D. ¢sle L5 IV. Ghlgada

Choose the correct answer from the options given below:
1. A-IV,B-1, C-III, D-II
2. A-L B-1IL C-IV, D-TI
3. A-IL B-L C-IL, D-1V
4.  A-1V,B-1, C-1I, D-II
Options :
42558917208. 1
42558917209. 2

42558917210. 3
42558917211. 4



Question Number : 139 Question Id : 4255894428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT
List 1 List 11
A. S Gda L g
B. b ila L Algheal L ala
C. 458 Ja> [IL 25 58 Qlula gl (S o S0
D. ¢sis &5 IV. Ghlgada

Choose the correct answer from the options given below:
1. A-1V, B-1, C-1II, D-I
2. A-1, B-1IL C-1V, D-1I
3. AL B-1, C-IL, D-1V

4, A-1V, B-1, C-111, D-11
Options :
42558917208. 1
42558917209. 2
42558917210. 3
42558917211. 4

Question Number : 140 Question Id : 4255894429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List 11
List I List I1
A, s> deaa L Qs g s
B. sl 1 A daaa o
C. o3l (e I1. 43
D. pa sl p s IV. So Giba

Choose the correct answer from the options given below:
1. A-1, B-II, C-III, D-1V
2. A-1V,B-lI, C-11, D-1
3.  A-IL B-L C-IV, D-1I
4. A-II, B-1V, C-1, D-I
Options :
42558917212. 1
42558917213.2

42558917214.3
42558917215. 4



Question Number : 140 Question Id : 4255894429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List I1
List I List I1
Al gilaadeaa L Qs g s
B. sl [ A daaa o
C. o3l (e I1. 43
D. pa sl p s IV. So Giba

Choose the correct answer from the options given below:
1. A-1, B-II, C-III, D-1V
2. A-1V, B-IIL, C-1I, D-1
3. AL B-I, C-1V, D-1

4. A-IL B-1V, C-1, D-1I
Options :
42558917212. 1
42558917213.2
42558917214. 3
42558917215. 4
Sub-Section Number : 2
Sub-Section Id : 425589179
Question Shuffling Allowed : No



Question Id : 4255894430 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
PSS olen i DSy adlada g gat 4o g 2 (el 200 L G s g Cun Ble Jelal (ol padliell ()
3 3l aahy 9 d1s Bl i 4y (gl 5 0% 4 Sl ¢ gl 40 40l gas alan ) 4 Alpeg afias Lghyl il pa iy Blie Jgkal
sl Gl s () 5255 (e pdf iy (3o Bl 320 303550 Sy 3Ll 50 e Sl ey S sl 5 cils
sy om0 DB Glog 9 Ol 3 48 s B4 Ol pl a0 e (s Sl s 50 Gl glg asa 3 ita gy T 8
4 gl e G b 4y Ha A galiy ep i) dala il oo i 4 U e 3 810 8 S e gl 1) 5 eS¢ s
Gl g Ty 50 e e (A5 0 8T8 8 gm il e g gy paal (i eyl R ila £ gl e GBS e il e Sin
A0 e gl il ) Gl g IS e Hl5Ea M

Sub questions

Question Number : 141 Question Id : 4255894431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
¢ . . bl N * I ® . -
faga Hlnl (S 4n baBlle 5G3de gl alis
b
TN
i€ 2
g3
adiall sl w4
Options :
42558917216. 1
42558917217. 2

42558917218.3
42558917219. 4

Question Number : 142 Question Id : 4255894432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
D Rl g (598 e s a8y (Blle lgdal o Al dilen ()55 Y gene ol g (5Ll 4y
Gl Sl g |
Gl Bde Cai )
Caal gl g 90 (2.3
Gl Sl g &l 2 4

Options :

42558917220. 1
42558917221.2
42558917222.3
42558917223. 4

Question Number : 143 Question Id : 4255894433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



f2g S Jaly il a 8
Ozl

Olys2

a2358 3

504

Options :

42558917224. 1
42558917225.2
42558917226. 3
42558917227. 4

Question Number : 144 Question Id : 4255894434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
25048 25 B el ol pgn s Sin sl gl g Sia pludag g
), 1

L2 2
a2238 3
olysd
Options :
42558917228. 1
42558917229.2

42558917230.3
42558917231. 4

Question Number : 145 Question Id : 4255894435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
0 ) S e o o e g 31 g g
3 b1
yala 82
Al 3.3
asa38 4
Options :
42558917232. 1
42558917233.2

42558917234.3
42558917235. 4



Question Id : 4255894430 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
PSS olen i DSy adlada g gat 4o g 2 (el 200 L G s g Cun Ble Jelal (ol padliell ()
3 3l aahy 9 d1s Bl i 4y (gl 5 0% 4 Sl ¢ gl 40 40l gas alan ) 4 Alpeg afias Lghyl il pa iy Blie Jgkal
sl Gl s () 5255 (e pdf iy (3o Bl 320 303550 Sy 3Ll 50 e Sl ey S sl 5 cils
Ly e 2500 51 O 5 Glnl e 2 48 s 5o Ol gl s 0 Gl e G Sl s B sl a3 fita y BTa S
4 gl e G b 4y Ha A galiy ep i) dala il oo i 4 U e 3 810 8 S e gl 1) 5 eS¢ s
Gl g Ty 50 e e (A5 0 8T8 8 gm il e g gy paal (i eyl R ila £ gl e GBS e il e Sin
A0 e gl il ) Gl g IS e Hl5Ea M

Sub questions

Question Number : 141 Question Id : 4255894431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
¢ . bl N * I » . -
f2gai Hnl (oS 4a L alble 3 Bde il ()alis
b
TN
i€ 2
g3
adiall sl w4
Options :
42558917216. 1
42558917217. 2

42558917218.3
42558917219. 4

Question Number : 142 Question Id : 4255894432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
D Rl g (598 e s a8y (Blle lgdal o Al dilen ()55 Y gene ol g (5Ll 4y
Gl Sl g |
Gl Bde Cai )
Caal gl g 90 (2.3
Gl Sl g &l 2 4

Options :

42558917220. 1
42558917221.2
42558917222.3
42558917223. 4

Question Number : 143 Question Id : 4255894433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



f2g S Jaly il a 8
Ozl

Olys2

a2358 3

504

Options :

42558917224. 1
42558917225.2
42558917226. 3
42558917227. 4

Question Number : 144 Question Id : 4255894434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

25048 25 B el ol pgn s Sin sl gl g Sia pludag g
), 1

L2 2
a2238 3
olbdd

Options :

42558917228. 1
42558917229.2
42558917230. 3
42558917231. 4

Question Number : 145 Question Id : 4255894435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

0 ) S e o o e g 31 g g

53 e
yala 82
as 3.3
asa38 4
Options :
42558917232. 1
42558917233.2
42558917234. 3
42558917235. 4
Sub-Section Number : 3
Sub-Section Id : 425589180

Question Shuffling Allowed : No



Question Id : 4255894436 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
4S50 dal Al e it iy 31 G (il S S S g pia | ph iz she Do glae glaadingy » g padeS Sy
g g 0a 8 g as (S ol Gy 5 Ol S i a1y Cpl sl A e si ol 5 () (a5 48 da g 03 (g (ma
S lE 51y 5 glee pnse 20h S e cdly g3 (sla 230l 5 L@ i Rl g g enled COMEISG 1 5 Ry o
2 B8 gl Caa g gla dsanal g "Ghgale " Bl e @sdes claaa J B 0 dll (B (pa S
540 g A 90 cdaenan 3 i (Ll £ 15 43 503 96 95 et glelSE 4d S Cpl b el AN (A Sl glay | gs Chuay
o il L U s L Ladnl yan je aiSabusd 1) Ol GRabl ju dii i g g 5 b Cuil G55 A0S Zas g s
R U JUNRPNT S PRPYLAVC P PRI | JEPY. R PR JPON A
Sub questions

Question Number : 146 Question Id : 4255894437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
L Clly ot )l 5 g 4deS Sy
(s 5 4dd 59,1
s S48 32
L‘Jl_hﬂ I.‘_I:GSIB

G5 4
Options :
42558917236. 1
42558917237. 2
42558917238. 3
42558917239. 4

Question Number : 147 Question Id : 4255894438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
00 g0 0 Ul g alaS s fle ad SIS gl Sl aels

250 ans Gl Yo ana (Kol Sy, ]
aailad a 3Y (S Shual (5 lauly 2

A€ el |y oal QG 3

Ah Sy 5 5k (Sl ugad

Options :

42558917240. 1
42558917241.2
42558917242. 3
42558917243. 4

Question Number : 148 Question Id : 4255894439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



sl e pSElel s slen 1) 5 ldas luSas
el uﬂd:ﬁﬂll
ol Gl 8 i D

Baa Sl O Sy 3

it oS3 5 .4
Options :
42558917244. 1
42558917245.2
42558917246. 3
42558917247. 4

Question Number : 149 Question Id : 4255894440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
gl B S (b ey lsd 7o 5 2 Ghgale SO
dJie o g (peest QIS ]
o8 (o 92 g .2
L')J]j‘.:n. PRI .Jiu:):'.._}
01..\.'1...@‘ =l gl woilaely 4
Options :
42558917248. 1
42558917249. 2

42558917250. 3
42558917251. 4

Question Number : 150 Question Id : 4255894441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tod grda o 8 (g 550t 5 0 B MO
25 Sl S ol U |y i ol gy |
Al Sl il (figy g Saudrdngi
b ik B0 e gl b US13
- t»g it " @Ln.h 61 a5 % -4
Options :
42558917252. 1
42558917253. 2

42558917254. 3
42558917255. 4



Question Id : 4255894436 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
4S50 dal Al e it iy 31 G (il S S S g pia | ph iz she Do glae glaadingy » g padeS Sy
g g 0a 8 g as (S ol Gy 5 Ol S i a1y Cpl sl A e si ol 5 () (a5 48 da g 03 (g (ma
S lE 51y 5 glee pnse 20h S e cdly g3 (sla 230l 5 L@ i Rl g g enled COMEISG 1 5 Ry o
2 B8 gl Caa g gla dsanal g "Ghgale " Bl e @sdes claaa J B 0 dll (B (pa S
540 g A 90 cdaenan 3 i (Ll £ 15 43 503 96 95 et glelSE 4d S Cpl b el AN (A Sl glay | gs Chuay
o il L U s L Ladnl yan je aiSabusd 1) Ol GRabl ju dii i g g 5 b Cuil G55 A0S Zas g s
R U JUNRPNT S PRPYLAVC P PRI | JEPY. R PR JPON A
Sub questions

Question Number : 146 Question Id : 4255894437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
L Clly ot )l 5 g 4deS Sy
(s 5 4dd 59,1
s S48 32
L‘Jl_hﬂ I.‘_I:GSIB

Sosse 4
Options :
42558917236. 1
42558917237.2
42558917238. 3
42558917239. 4

Question Number : 147 Question Id : 4255894438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
00 g0 0 Ul g alaS s fle ad SIS gl Sl aels

250 ans Gl Yo ana (Kol Sy, ]
aailad a 3Y (S Shual (5 lauly 2

A€ el |y oal QG 3

Ah Sy 5 5k (Sl ugad

Options :

42558917240. 1
42558917241.2
42558917242. 3
42558917243. 4

Question Number : 148 Question Id : 4255894439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



sl e pSElel s slen 1) 5 ldas luSas
el uﬂd:ﬁﬂll
ol Gl 8 i D

Baa Sl O Sy 3

it oS30 5 .4
Options :
42558917244. 1
42558917245.2
42558917246. 3
42558917247. 4

Question Number : 149 Question Id : 4255894440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
gl B S (b ey lsd 7o 5 2 Ghgale SO
Jio (o g (st JiE ]
o8 (o 92 g .2
L')J]j‘.:n. PRI .Jiu:):'.._}
01..\.'1...@‘ =l gl woilaely 4
Options :
42558917248. 1
42558917249. 2

42558917250. 3
42558917251. 4

Question Number : 150 Question Id : 4255894441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tod grda o 8 (g 550t 5 0 B MO
25 Sl S ol U |y i ol gy |
Al Sl il (figy g Saudrdngi
b ik B0 e gl b US13
- t»g it " @Ln.h 61 a5 % -4
Options :
42558917252. 1
42558917253. 2

42558917254. 3
42558917255. 4



